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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647552
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50964710635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letter in the following letter series.

V, LR, bN,
Options:

1.+ L
2.» M
3.= K
4 =]

Question Number : 1 Question Id : 50964710635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT HTell H 3MTAH 38T AT HL|

vV, T, R, P, N,

Options:

1. v L
2.« M
3. = K
4. = J

Question Number : 2 Question Id : 50964710636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the last letters in the following letter series.

PRQ), TVU, XZY, BDC, FHG,

Options:

1. vJLK
2. % JKL
3. x IK]
4. = [JK

Question Number : 2 Question Id : 50964710636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT HTell H 3MTAH 38T AT HL|

PRQ, TVU, XZY, BDC, FHG,

Options:

1. v JLK
2. = JKL
3. = IKJ
4. = |JK

Question Number : 3 Question Id : 50964710637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one of the option cannot be formed
by the word, given in the question. Find that word.

COMPLICATED

Options:

1. = PACE
2. v COMB



3. = LACE
4. » TAIL

Question Number : 3 Question Id : 50964710637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafEa wea #, T a0 oo g@nmy 3 fAkedl # & v
fhed arfod dAaT RAT ST HahdT|l 39 25 I Tt

COMPLICATED

Options:

1. = PACE
2. v COMB
3. = LACE
4. = TAIL

Question Number : 4 Question Id : 50964710638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Cake
2. * Icecream
3. v Soup
4. = Pudding

Question Number : 4 Question Id : 50964710638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 Tredt # &, did vk Aega dles O gAT &

&Tollieh, Ueh Tdehed e did hT dg ool &l 39 Thed &

Tl ke ST SRl & 3Tl &

Options:

1. = %eh

Question Number : 5 Question Id : 50964710639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v XYW
2. » BDZ
3. = NPL
4, » MOK

Question Number : 5 Question Id : 50964710639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv @aredt # &, did vk Aeaa ales O gAT &)

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T Y ST ATRT T 37el4T ¢

Options:

1. v XYW
2. = BDZ




3. = NPL
4. = MOK

Question Number : 6 Question Id : 50964710640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1.+ Hen : Egg

2. » Bird : Worms
3. = Rabbit : Carrots
4. » Mouse : Cheese

Question Number : 6 Question Id : 50964710640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Gereul A esar $r 3 AAT TATT &7 & afaT &
T TF AT et T T FIAT &1 3T ST H AT HL AT
3ol g & TEiad gl

Options:
1. v @aft: 31sT
2. » el Frg
3. = TN AT
4. = TET: Yo

Question Number : 7 Question Id : 50964710641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term on the same
bhasis as the second term is related to the first term.

Chennai : Tamil Nadu :: Panaji : ?
Options:

1. = Patna

2. » Maharashtra
3. v Goa

4. = Odisha

Question Number : 7 Question Id : 50964710641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 dhed T I L S AR U & 39T TohR & 97T &
g R & g8 Ug Uge ug & He9d g

deds : diHol a5 quTaT @ 7
Options:

1. = Ucdl

2. s FENISE
3. v T
4. = 3Tgerm

Question Number : 8 Question Id : 50964710642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

EOA : GQC 1 VGX 1 7?
Options:

1. » TEV



2. v XI7Z
3. = SDU
4, « WHY

Question Number : 8 Question Id : 50964710642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [dhed T T L SF d 9E 8 39T TohR & Jaiad &
o 9~ & gEU ug Ugel Ug & HEdd g

EQA : GQC :: VGX : ?

Options:

1. = TEV
2. v XIZ

3. = SDU
4. = WHY

Question Number : 9 Question Id : 50964710643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Stream : River :: Lake : ?

Options:

1. » Waterfall
2. v Sea

3. = Dam

4. = Flood

Question Number : 9 Question Id : 50964710643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



30 dhed T I L S AR U & 39T TohR & 97T &
g R & g8 Ug Uge ug & He9d g

&RT : SEr : Sie : ?

Options:
1. = ST
2. v @83
3. = §TY
4, = dl¢

Question Number : 10 Question Id : 50964710644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 9513 means 'this glass is half’,
7295 means 'glass is like brick’ and 6294 means 'brick is
empty dry’. Find the code for 'brick’.

Options:

1.+ 2
2.% 5
3.% 4
4. %9

Question Number : 10 Question Id : 50964710644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh [ATead &g 99T H, 9513 &7 377 § 'this glass is half,
7295 =1 37T & 'glass is like brick' 3 6294 =1 3727 & 'brick
is empty dry'l 'brick' & folT g Tl

Options:

1. v 2
2. % 5



3. = 4
4. = 9

Question Number : 11 Question Id : 50964710645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If CREATION is coded as XIVZGRLM, then how will SKY be
coded as?

Options:

1. = REV
2. v HPB
3. = MHT
4. = IGC

Question Number : 11 Question Id : 50964710645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe CREATION = XIVZGRLM & &9 H Iled Rar ST g,
ar SKY =& & sifeg rar sree?

Options:

1. » RFV
2. v HPB
3. » MHT
4. = 1GC

Question Number : 12 Question Id : 50964710646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Here are some words from an artificial language.

'renlof’ means 'footprint’,
'"Tofdel’ means 'football’
'debsom’ means 'baseball’

Which word would mean 'wheelbase'?

Options:

1. = deblik
2. = feplof
3. v bersom
4. # rensiw

Question Number : 12 Question Id : 50964710646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TGT Uk HAA 89 & $eS <reg AU g

'renlof T 3727 & 'footprint,
'lofdeb' T 37T & 'football
'debsom' T 37T § 'baseball

Torg orsg T 3T 'wheelbase' §7

Options:

1. = deblik
2. » feplof
3. v bersom
4

. % rensiw



Question Number : 13 Question Id : 50964710647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If it is 3 : 33 AM now, what was the time 6,070 minutes ago?

Options:

1. » 08:43 AM
2. % 10:23 AM
3. = 08:43 PM
4.+ 10:23 PM

Question Number : 13 Question Id : 50964710647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 319l 3:33 AM &, ar 6,070 fAfac gge Tohda s a7?

Options:

1. = 08:43 AM
2. = 10:23 AM
3. » 08:43 PM
4., v 10:23 PM

Question Number : 14 Question Id : 50964710648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfTA$Bmeans Aisson'sson of B, A # B means A is son of B
and If A * B means A is father of B, then what does X $ Y * Z #
W mean, if Y is mother of one child?

Options:

1. v X is son’ son of W

2. % X 1sson of W

3. = X is father’s father of W
4. » X is brother of W

Question Number : 14 Question Id : 50964710648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



JEASBHRITIATA BF ae T aar g, A#B T AT A B
FT YT R AT AT A + BFTHT A BH U &, ar X $ Y «
Z #W T T HAT §, TG Y Shald dod hl AT &7

Options:

1. v X, W o & T ST &
2. x X, WHI gT &

3. = X, W & Tar &1 far &
4. = X, W o] #1S &

Question Number : 15 Question Id : 50964710649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Introducing Rehman, Mansur said, "his father is my wife's
father-in-law.” How 1s Rehman related to Firoz, If Firoz is
Marnsur’s sorm.

Options:

1. = Firoz's brother is Rehman

2. #» Firoz's father is Rehman

3. v Firoz's father’s brother is Rehman

4. = Firoz's brother’'s father-in-law is Rehman

Question Number : 15 Question Id : 50964710649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I&HTST T TR g gv, AT of &gl "3 Oar A gear &
T B1" TEATS T ST & 7 Toy g, 3R ST AT T
Craly

Options:

1. = TOROIST T ATE EATT &
2. « TRtier o Tar @A &
3. v ST & TOar &1 #18 AT &




4. « TORQIST o oS T TLT TBATA ¢

Question Number : 16 Question Id : 50964710650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Atul, Ibrahim, Shams, Raj and Vaibhav are sitting in a row.
Raj is between Shams and Vaibhav, Atul is to the left of
Ibrahim. Atul is not at the end. Atul is not next to Shams. Who
is to the right of Vaibhav?

Options:

1. = Ibrahim
2. = Raj

3. v Atul

4. = Vaibhav

Question Number : 16 Question Id : 50964710650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e, SHIEH, UF, Tl 3T 91T Uk didd # §S &l TS
UFH IR Jerg & ST B, 3ol SMigH K S I B 37Tl 37
H BT &1 3T AFH F WS H ALl gl d9T F e HWh
el &7

Options:

1. = SoligH
2. = Tl
3. v 3dd
4. = qHT

Question Number : 17 Question Id : 50964710651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



This is the ownership history of a car. G was the one who sold
the car to the scrap yard. F replaced the tyres which were
fitted by J. K sold it to G after driving it for 1200 km. If H was
the second user who was the third?

Options:

1. =]
2.» K
3.=G
4. v F

Question Number : 17 Question Id : 50964710651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Teh L &l TAMHT e T g1 G o R T ThHT I8 A
ST AT F of 37 SRRY & §eof f&ar Tfoled J g@nr fthe fohram
=T ATl K & 38 1200 km T IolTel & 8§15 G S S &=
e H gERT 3UeTehdT o7, dr JRRT lel aT?

Options:

1. = J
2. = K
3. = G
4. v F

Question Number : 18 Question Id : 50964710652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :
I. All men are good speakers.
I1. All good speakers are good listeners.

Conclusions :
I. Some good speakers are men.
I1. All good listeners are men.

Options:

1. ¥ Only Conclusion I follows.

2. = Only Conclusion II follows.

3. = Both I and II follows.

4. = Nelther of the conclusion follows.

Question Number : 18 Question Id : 50964710652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



mmmmﬁwﬁaﬁtwﬁﬁlwmgc%
FUAT H T I3 ATARRIAT T ©, Hel &I T TATCIT: AT
deal & @y fawer I g7 femms & &, 38 favhy @
Tl ST 3T Teg 8§ W 3T FUT T dlfcher &7 &

3T HIAT/RIT B/

e
. el ey 3T goFdT &
|. AT = ToFdT < AT &l

IGLER R
. F TS goFdT IS5 &l
W M

I @efr 3 ST ey g

Options:

1. v &g foshy | 3HTE0T FIAT ¢

2. = ohdel felShy || TTEIOT FIAT g
3. % | 3T |l 2kl 37eERor I &
4. « B oY forse STaTEROT FE HIT E

Question Number : 19 Question Id : 50964710653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements .

I. All books are albums

I1. All albums are magazines
III. Some diaries are books

Conclusions :
I. Some magazines are diaries
II. Some diaries are albums

Options:

1. = Only Conclusion I follows.

2. » Only Conclusion II follows.

3. v Both I and II follows

4. = Nelther of the conclusion follows.

Question Number : 19 Question Id : 50964710653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁmwmﬁwﬁaﬁtmﬁﬁﬁlaﬁm?%
FUAT H 2T IS ATARRT T &, Hol &l I HIT: AT a2l
%wﬁwmﬁyﬁaﬁaﬁﬁ,mmmwsﬁ

St 3T §ag @ W 39 FUe HT dlfcheh T & He 0T
FILAT/RIT &5

h o
. @l gTd Uead g
|. T TeaH UTERIT &

Il. % SEARAT T+ &

IGLE R
I.@qﬁaﬂv‘”aﬂﬁ%‘*l
II.EEWWW?H

1. % hdel oISy | 3TTETOT LAl &l

2. « shael folshy || 3eTE0T T |
3. v | AT Il 2kl 37eEor i &
4. » RS & forsahy 37eTETOT &N FIAT B

Question Number : 20 Question Id : 50964710654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



1. 27
2. 81
3. 343
4. 169

Question Number : 20 Question Id : 50964710654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v Jepeul A @, did T @Teag aies @ AT &S8R,
Uch [dehed 31ed dlel I i@ o1&l gl 39 [dshed T T R

ST STehl | 3Tel9T &l

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 27
2. 81

3. 343
4. 169
Mental Ability2
Group Number : 2
Group Id: 509647233
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2

Section Id : 509647393



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647553
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 50964710655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of numbers are similarly related
and one pair is differently related. Find the pair which is
differently related.

Options:

1. = 951 : 634
2. % 519 : 346
3. v 548 : 342
4. % 642 : 428

Question Number : 21 Question Id : 50964710655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few ot faeredt & F&AT3M &1 3 SNfSAT v TATT Fefdd &

AT TR SANBT 3ol dileh O 979d &1 39 ST &l ATd e S
369 HE T gErad gl

Options:

1. = 851 : 634
2. = 519 : 346
3. v 548 : 342
4. = 642 : 428

Question Number : 22 Question Id : 50964710656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

20: -40 . -16:7?
Options:

1. » =32
2. % 8
3.5 —8
4. v 32

Question Number : 22 Question Id : 50964710656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl dEaT dgelr §EAT ¥ FEldd g

20 : -40 :» 16 7

Options:

1. = -32

2.
3. % -8
4. v 32

Question Number : 23 Question Id : 50964710657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

0.0144 : 0.12 :: 0.0016 : ?

Options:

1. = 1/20
2. % 0.0625
3.+1/25
4. = 0.08

Question Number : 23 Question Id : 50964710657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl dEaT dgelr §EAT ¥ FEldd g

0.0144 : 012 :: 0.0016 : 7?

Options:

1. = 1/20
2. = 0.0625
3. v 1/25
4. = 0.08

Question Number : 24 Question Id : 50964710658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given equation is incorrect. Which two signs should be
interchanged to correct the given equation?

18+3+2x10-6=16

Options:



1. = + and x
2. % +and -
3.v+andx
4. = + and -

Question Number : 24 Question Id : 50964710658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feam arar gAY ITora &1 ST 9T gFATRIuT S TEr R
forw Tohet & RIegl o TWEW sFcoldl ANge?

18+3+2x10-6=16

Options:

1. = + 3T x
. + 3T -
HT %

« + 3T -

Question Number : 25 Question Id : 50964710659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, '+' represents -, -’ represents 'x’,
"%’ represents '+’ and '+’ represents '+'. Find out the answer to
the following question.

180 +25-8+240x15="7
Options:

1. = 204.5
2. % 99

3. % -24
4. v 4



Question Number : 25 Question Id : 50964710659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fafead s amr &, '+, - &1 wfafafde o g, -, %
FT AfAfATded I &, %, '+ FT dfafaided Far § AW '+,
'+ w7 wfafafdaa Fwar &1 Feafef@a wea &1 3cav 7T F

180 + 25 -8 + 240 x 15 =7

Options:

1. = 204.5
2. % 99
3. % -24
4. v -4

Question Number : 26 Question Id : 50964710660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

-5,-2.75,7,1.75, 4, 6.25
Options:

1. = 0.5
2.v-05
3. = -0.25
4. % 0.25

Question Number : 26 Question Id : 50964710660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToraTolad F&ar 4@elr # SIdT &A1 AT Hi|

-5, -2.75 , 7, 1.75, 4, 6.25



Options:

1. = 0.5

2. v -0.5
3. » -0.25
4. = 0.25

Question Number : 27 Question Id : 50964710661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

-20, -16.25, ?, -8.75, -5, -1.25
Options:

1. % -11.5
2.v-12.5
3. % -13.5
4. % -14.5

Question Number : 27 Question Id : 50964710661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafad aear sEer # smvdr dear g #i

-20, -16.25, ?, -8.75, -5, -1.25

Options:

1. = -11.5
2. v -12.5
3. = -13.5

4. = -14.5

Question Number : 28 Question Id : 50964710662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The weights of 4 boxes are 1.5, 3, 4.5 and 8 kilograms. Which
of the following cannot be the total weight, in kilograms, of
any combination of these boxes?

Options:

1. =14
2.v 16
3. %= 17
4. % 15.5

Question Number : 28 Question Id : 50964710662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 T3saT T gofal 1.5, 3, 4.5 3T 8 FhallanmA &1 3o f3sal &
raT ¢ garater T MeateiEaa & O rellamda A shiel @l Fel
ol oIal &I Gohdl &7

Options:

1. = 14
2. v 16
3. = 17
4. = 15.5

Question Number : 29 Question Id : 50964710663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 5@7=53, 7@3=12, 8@4-=23, then find 6@9= ?
Options:

1. = 54
2. % 12
3.v45
4 % 23

Question Number : 29 Question Id : 50964710663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



afg 5@7=53, 7@3=12, 8@4=23, ar 6@9=" AT |

Options:

1. = 54
2. % 12
3. v 45
4. = 23

Question Number : 30 Question Id : 50964710664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between crocodiles, lions and herbivores?

Options:

‘&

©

OO
O

1. =
2, %
3¢



Question Number : 30 Question Id : 50964710664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # O T 1 dd IRT AIRATS, T AT LARIENHT olam
o AT o GFY hl o 3HTHT a20TdT §7

Options:

OO

2. %
3. ¢



Question Number : 31 Question Id : 50964710665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, rectangle represents lawyers, triangle
represents musicians, circle represents dentists and square
represents mothers. Which set of letters represents dentists
who are either musicians or lawyers?

A

Options:

1. = C
2. = CHG
3. = CF
4. v CH

Question Number : 31 Question Id : 50964710665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFfaf&d 3Mpfa #, 3 ghrat T yiafefed T &,

Feptor FeliaerrT &1 ufafafaca wadar &, ged ad Rafreaesr &
yfafafdeg sar & M g@et Arant w1 vaefta sar &
&L T el AT Ac &d RITehederr &1 giafai&cd &ar § it
IT dr GIdSRR & IT dhTol &7

B |

T
4

D

Options:

1. = C

2. = CHG
3. = CF
4. v CH

Question Number : 32 Question Id : 50964710666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

O |w

Options:



2. %
g
o | o O
glﬁ L e
&2,
O
4. «

Question Number : 32 Question Id : 50964710666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3cc 3R H Toe=IfaiEd # & Siel &1 ol wesT 3hpid #

fed 10 Fel & & YR W FAT FLT ST TehelT?

0 3%

Options:




of

Question Number : 33 Question Id : 50964710667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If North becomes South, then what will North-East become?

Options:

1. v South-West
2. » North-West
3. = East
4. = West

Question Number : 33 Question Id : 50964710667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39T Ical, GI&TUT Sl STV, T Sccad-qd FAT Selar?

Options:

1. v SI&-ufeasH
2. * 3cal-uigaH
3. qg

4. = qieaH

Question Number : 34 Question Id : 50964710668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the
question figure?

A S

options:
o
R
.
.

Question Number : 34 Question Id : 50964710668 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

leT T 3l 3ThicT Wos 3ThTd & Ucer I T HI?

A S

Options:
1. = /é
LA
N
.




Question Number : 35 Question Id : 50964710669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

V.V
D _ q
LLASA

VAN
3
5

> D

/
N

> <
D & (
A

> <oV
@
4« 55 E

Question Number : 35 Question Id : 50964710669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feU a7 gredr & & i T @AeTd Hiek & AT gl

&Tollieh, Ueh Tdehed e did hT dg ool &l 39 Thed &
TeT e Sl e T 37el4T &

Options:

VvV v
D _
R AA

> D
>
D d >

D (

> o A

> <V

> <V
@
AR

Question Number : 36 Question Id : 50964710670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following answer figure completes the series of
the question figure?

VM M|
O ol & |
B A

Options:

>y

&<

4 %

Question Number : 36 Question Id : 50964710670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArTfa@T & @ Fia A7 3caT 3R Tea R 6 =ar Fi

T FAT 87

A% M|:
4y O <

Options:

> P

A

Question Number : 37 Question Id : 50964710671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:

L

R

Question Number : 37 Question Id : 50964710671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& ¢ 3 RN 7 8, 37 UH HT Tl R oTTH weal
3pfa ffga &

Options:

R

Question Number : 38 Question Id : 50964710672 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

*W

Options:
AN
A0 O
No oF
1 v NV
N7
N O A
s
2 AN
O AN O
/] N
~ 7
7 O Nl O
O N/ ©
' 2
v N
4%oﬂho

Question Number : 38 Question Id : 50964710672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teel IMFIT A AT TET a4 gHhs T AR 3TH
B¢ fohar amam g1 & 98 3ca apfaar |, g = o 39
el STTe WX I AT femrs e

+W

Options:
VAN
10 O
No ol
1 v NV
N 7
N O A
o 5
5 AN
O AN O
/] N
N L~
3« O NI O
O NV ©
b¥ £l
7 N
4« 2 AR D

Question Number : 39 Question Id : 50964710673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

I

Options:

oo
1.«

N\

P

N

-

3,,@/
s/
e,

A,

Question Number : 39 Question Id : 50964710673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Ifg Tk 29or & W@T MN 9T T&T I-T &, ar dhied T 3cal
3T &1 aT$ 3T T FET SUoT gidiss &2

S AN

Options:

1@4
AN
P

fas

3_@‘/
>/
>

4.

Question Number : 40 Question Id : 50964710674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.

&

Options:

Question Number : 40 Question Id : 50964710674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

General Awarenessi



Group Number : 3
Group Id : 509647234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 509647394

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 509647554
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50964710675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which of the following states Bonalu festival 1s
associated?

Options:

1. = Punjab

2. » West Bengal
3. v Telangana

4. = Maharashtra

Question Number : 41 Question Id : 50964710675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SlelTe] AR fohE ToT T 3T &7

Options:




B~ W N =
<

Question Number : 42 Question Id : 50964710676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was built to honour the location where Buddha
spent his last days and donated his begging bowl.

Options:

1. v Kesariya Stupa

2. = Sanchi Stupa
3. * Damekh Stupa
4. = Bharhut Stupa

Question Number : 42 Question Id : 50964710676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 3T TATT Al GFEATAT Fla o oI FTAIT I=AT
AT ST8T & o 31Yel JERT feet foame of 3w 319ar ofver
T STal ToRAT oT|

Options:
1.¢?éﬂﬁTHTFQF
2. % G &9

3. = TAHE T

4. = AT T
O

Question Number : 43 Question Id : 50964710677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Grida dance is a popular dance form of

Options:




1. v Madhya Pradesh

2. = Chhattisgarh

3. » Andhra Pradesh

4. = Jammu and Kashmir

Question Number : 43 Question Id : 50964710677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farsT o T SO o &

Options:

1. v HET geT

2. * BcdlgITe
3. = 3T waer
4. » SFH AT FAR

Question Number : 44 Question Id : 50964710678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Kummi Paatu” is an ancient musical form of which state?

Options:

1. » Kerala

2. » Karnataka
3. ¥ Assam

4. v Tamil Nadu

Question Number : 44 Question Id : 50964710678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"FFAT T orT T &7 uRieT ol &9 &7

Options:

1. = el
2. % Shellceh
3. & 3OH




4.$aﬁ?»ra1§

Question Number : 45 Question Id : 50964710679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

1s a pre-paid Negotiable Instrument, wherein the
drawee bank undertakes to make payment in full when the
instrument is presented by the payee for payment.

Options:

1. = Bankers Cheque
2. v Demand Draft
3. = Cheque

4. = Treasury Bill

Question Number : 45 Question Id : 50964710679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh qI-33TdTel TR folad (W08 sanfavae
3TgAC) &, TUA erdTel & ToIv $[aTcTeishd] ZaRT STEHAC U

fohT SiTel U 37eTehdl S QT HITCATST Flal T AT FIAT &

Options:

1. = dhd Tk
2. v 3ATS g9
3. % Ik

4. = ZATel forel

Question Number : 46 Question Id : 50964710680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first woman Finance Minister to present the
budget?

Options:

1. * Sonia Gandhi
2. = Pratibha Patil



3. v Indira Gandhi
4. = Smriti Irani

Question Number : 46 Question Id : 50964710680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solc UeT el TTell WUH ATReT Bea FHAT i o7

Options:

1. » @iferar ey
2. = giaer qrfcer
3. v STeIT amedy

4. = THMT STer

Question Number : 47 Question Id : 50964710681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum support price (MSP) of maize for
2018-19?

Options:

1. = Rs. 1,650 per quintal
2. = Rs. 1,550 per quintal
3. v Rs, 1,700 per quintal
4. = Rs. 1,525 per quintal

Question Number : 47 Question Id : 50964710681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2018-19 & fIT ARl FT IdH AL Ao (TATHU) T
£7

Options:

1. = Rs. 1,650 wfd fefacer
2. = Rs. 1,550 ufq foaeer
3. v Rs. 1,700 9fd feaee




4. = Rs. 1,525 ufa Teacer

Question Number : 48 Question Id : 50964710682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Siderosis is the deposition of excess in body
tissue.

Options:

1. v iron
2. = lead
3. * mercury

4. = ashestos

Question Number : 48 Question Id : 50964710682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sy R & Fda # AaRed HT STAT &I

Options:

1. v @
2.« drar
3. = ONT
4, = g

Question Number : 49 Question Id : 50964710683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wastewater from kitchens, bathrooms and laundries is called

Options:

1. » Excreta
2. » Sewage
3. v Sullage
4. % Secrage

Question Number : 49 Question Id : 50964710683 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ty, STUEA AR 9T gells & 3TAfRISe S

el SIar &l

Options:

1. = HelHT
o,

2. = Hol

3. ¢ hST hi=hc

4, = ol

Question Number : 50 Question Id : 50964710684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a step of water purification which removes the
suspended particles and unsettled floc in addition to many
microorganisms and algae.

Options:

1. = Disinfection
2. v Filtration

3. » Coagulation

4. « Flocculation

Question Number : 50 Question Id : 50964710684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SToT ¢MeeT ST Teh TNOT & ST hs FEASAl AT
darer & 3Tear fAersd Fol AR 3R Falleh &I &eT 2T &l

Options:

1. % oI COshIHE

2. v Mreaderer
3. %aﬁ'ﬂﬁi’lﬁ
4. ﬁwn@em




Question Number : 51 Question Id : 50964710685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does a Galvanometer detect?

Options:

1. v Electric current
2. = Quantity of heat
3. = Temperature

4. = Length

Question Number : 51 Question Id : 50964710685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JRTATIT T 3UALT TSREHT TdT STl el o ToIT ToRAT STAT
&7

Options:

1. v mqu I

2. % OTq <hr AT
3. = dT9HTT

4, = TTETs

Question Number : 52 Question Id : 50964710686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of Hydrofluoric Acid?

Options:

1.+ HOF

2. » HFL
3. * HDF
4, « HCF

Question Number : 52 Question Id : 50964710686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E53IFalNeh URIS & UH™Telsh o1 4T &7




Options:

1. v TdUR

2. % UURUol
3. » Ug3IUHh
4. = TTHIUH

Question Number : 53 Question Id : 50964710687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes splits fats into glycerol?

Options:

1. v Lipolytic Enzyme

2. = Proteolytic Enzyme
3. » Amylolytic Enzyme
4. = Nucleolytic Enzyme

Question Number : 53 Question Id : 50964710687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIl # & ohied |7 9fehvad TET I Telldl el H ISl &7

Options:

1. v fearemsfes Tasd

2. = UICT3Tasead TATSA
3. = UATSollfollceh UTSH
4,

Y i b
® a<laeldlellplcen ValloH

Question Number : 54 Question Id : 50964710688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the common name of Gossypium herbaceum?

Options:

1. = Mint
2. v Cotton



3. » Tulsl
4. » Banyan

Question Number : 54 Question Id : 50964710688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MATITH §GH T TTURUT ATH AT §7

Options:

1. = gEraT
2. v FUH
3.&‘@@

4. + SO

Question Number : 55 Question Id : 50964710689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the Forest Conservation Act pass?

Options:

1. = 1972
2. v 1980
3. = 1985
4. = 1990

Question Number : 55 Question Id : 50964710689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁmaﬁﬁwwwﬁg&ﬂ

Options:

1. = 1972
2. v 1980
3. = 1985
4. = 1990

Question Number : 56 Question Id : 50964710690 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which among the following soils is formed by salt deposition
by tides, rivers or sea breeze?

Options:

1. = Red Soll

2. » Alkaline Soil
3. = Laterite Soil
4. v Saline soil

Question Number : 56 Question Id : 50964710690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & @ sl €@ A sar-amer, afeat ar qagr gar
GaRT oTHeh o STATd H Feldll 57

Options:

1. = ool AT
2. = &N HfH

3. = AUBT AT
4, v IR TAET (GelgaT disd)

Question Number : 57 Question Id : 50964710691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What among the following is the largest chilli producing state
of India?

Options:

1. = Gujarat

2. » Tamil Nadu

3. = Assam

4. v Andhra Pradesh

Question Number : 57 Question Id : 50964710691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o TT § O i OT T 9RT &7 g98 &7 3T 3c9eh
&7

Options:

1. = JerTd
2. = Affer a3
3. » 3GH
4. v 3T TeeT

Question Number : 58 Question Id : 50964710692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many countries are there in South America?

Options:

1.+ 12
2. % 15
3. %18
4. % 20

Question Number : 58 Question Id : 50964710692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GI&T0T AT H Tohcar 291 87

Options:

1. v 12
2. = 15
3. = 18
4. = 20

Question Number : 59 Question Id : 50964710693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Singapore Strait separates Singapore from

Options:




1. » New Zealand
2. » Australia

3. v Indonesia

4. = England

Question Number : 59 Question Id : 50964710693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTTgT Steraferr famgT st T 3TeTdT LT &1

Options:

Question Number : 60 Question Id : 50964710694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one is the longest tributary of Yamuna?

Options:

1. = Betwa
2. » Koshi
3. v Tons

4. = Tawa

Question Number : 60 Question Id : 50964710694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THAT T TTH o6l FEHFh AAcl hlel AT &7

Options:

1. % Sdar
2. = el
3. v




4. = gar

General Awareness?2

Group Number : 4
Group Id : 509647235
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 509647395

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647555
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50964710695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Andes is a mountain range along the western edge of

Options:

1. » North America
2. » Australia

3. = Asia

4. v South America



Question Number : 61 Question Id : 50964710695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TsIal &+ OTHAT SR W [FUd T gad 4Eelm g

Options:

1. = 3cadd AT

2. = 3ireeforar
3. » iR
4. v ETEUT 3ATFT

Question Number : 62 Question Id : 50964710696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Kalachuri Dynasty?

Options:

1. v Kokalla I
2. = Gangeyadeva
3. » Kokalla I
4. = King Ashoka

Question Number : 62 Question Id : 50964710696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el T T FEATIHR i AT?
Options:

1. v hichel |
2. = @A
3. % @Il
4. = TSI 372Mh

Question Number : 63 Question Id : 50964710697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the British Government passed the Indian
Independence Act?

Options:



1. = January 1947
2. = April 1947

3. v July 1947

4. = March 1947

Question Number : 63 Question Id : 50964710697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefeer aver & aRdT Taaaar yfAfeIdE s T AT ar?

Options:

1. % STeladl 1947
2. = 3T%er 1947

3. v oS 1947
4. = AT 1947

Question Number : 64 Question Id : 50964710698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the partition of Bengal take place?

Options:

1.+ 1905
2. % 1900
3. = 1910
4. = 1925

Question Number : 64 Question Id : 50964710698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SITTel Rl TAHTSTaT ke g3 9qT?

Options:

1. ¢ 1905
2. = 1900
3. = 1910




4. = 1925

Question Number : 65 Question Id : 50964710699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alauddin Khalji created Diwan-i-Riyasat for :

Options:

1. = tax control

2. v market control

3. = revenue collection
4. = religious affairs

Question Number : 65 Question Id : 50964710699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

K I EAGIREC I L & forw Sara-v-REmaa &
TATOT ToRaT 2T|

Options:

1. % T =0T
2. v SToIRT Tag=or

3. % JToTEg TIE

4. » gITHS HATH

Question Number : 66 Question Id : 50964710700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the battle of Plassey fought?

Options:

1. = 1753
2. v 1757
3. = 1765
4. % 1752

Question Number : 66 Question Id : 50964710700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



CATET & J& s olsT IAT AT?

Options:

1. = 1753
2. v 1757
3. = 1765
4. = 1752

Question Number : 67 Question Id : 50964710701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TMoT IToTael shT AT hiel 2UT?

Options:

1. % ITSHTSAT ATel

2. = T ||
3. % 3T |

4. v Tas=re=

Question Number : 67 Question Id : 50964710701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Chola Dynasty?

Options:

1. = Rajraja Chola
2. » Krishna III

3. = Aditya I

4. v Vijayalaya

Question Number : 68 Question Id : 50964710702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PSLV-C45 successfully launched EMISAT and

customer satellites on 1st April, 2019.

Options:



1.+ 28
2. % 20
3. % 22
4, % 20

Question Number : 68 Question Id : 50964710702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 69 Question Id : 50964710703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first female candidate to run for a Legislative
seat in India? She was a student in London who came to India
upon hearing about Gandhi's non-cooperation movement.

Options:

1. * Nandini Satpathy

2. = Sucheta Kriplani

3. » Anwara Taimur

4. v Kamaladevi Chattopadhyay

Question Number : 69 Question Id : 50964710703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR H g T9r dic & OIT d8a grell Ugell Afgell
SFHICAR Fid d1? g8 dcd H U ST A7 S el & Jggaer
3MeTelel & SN A Folohd AR 3T o]

Options:

1. % ATl Feadr

2. = Tl F9ella)
e [

3. % 3Tl dHY
4. v FHATCAT TSIYTEITT

Question Number : 70 Question Id : 50964710704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who among the following has never won an Oscar?

Options:

1. = Resul Pookutty
2. = Satyajit Ray
3. » ARRehman
4. v Aamir Khan

Question Number : 70 Question Id : 50964710704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

eiET A7 8 rga il 3TET T80 S ar §7

1. = 3Tl gehar

B 20

« Tcdlold 1Y

2.
3. * U.3N. IEATA
4. v MMTAT Tl

Question Number : 71 Question Id : 50964710705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did the Arjuna Award start?

Options:

1. = 1992
2. v 1961
3. % 1985
4. = 1950

Question Number : 71 Question Id : 50964710705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3olel QIERR T BT fovd Iy T 315 12

Options:

1. = 1992
2. v 1961




3. = 1985
4. = 1950

Question Number : 72 Question Id : 50964710706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who wrote "Turning Points : A Journey Through Challenges™ ?

Options:

1. v AP.J.Abdul Kalam
2. » Ruskin Bond

3. = David Davidar

4. » R K Narayan

Question Number : 72 Question Id : 50964710706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ieler aTgcH: T Fail 3 Telora” foraer forgh &7

Options:

1. v TULS. 37sgel hellA

2. % T[Ehel Sles

3. = 3798 3OsT
4. » MT & TRIYOT

Question Number : 73 Question Id : 50964710707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the World Bank established?

Options:

1. = 1942
2. v 1944
3. %1945
4. % 1948

Question Number : 73 Question Id : 50964710707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faeg S+ Fr T FF Fr T A7

Options:

1. = 1942
2. v 1944
3. = 1945
4. = 1948

Question Number : 74 Question Id : 50964710708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the Vice President of the Constituent of Assembly
after partition?

Options:

1. v Harendra Coomar Mookerjee
2. » Dr. Sachchidananda Sinha

3. = Sardar Vallabhbhai Patel

4. « M.N.Roy

Question Number : 74 Question Id : 50964710708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & &g TfaYgTeT T & 3UTETE] hiel A7

Options:
1. v &G FHAR ISt

2. = I gicagree bear
3. » GigN deod #AG 9cd
4. » TA.US. U

Question Number : 75 Question Id : 50964710709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was not a part of the drafting
committee of the constituent assembly?

Options:



1. = B. R. Ambedkar
2. = N Gopalaswamy Ayyangar
3. *» Dr KM Munshi
4. v Dr. Bimal Jalan

Question Number : 75 Question Id : 50964710709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFafelET # & shiel @iadrel @HT T FAElGT GiATT 1 fgear
oTal 47

1. % & . HFESH
2. % Uol INUTIEGTHT TIR
3. = gT. %w:@aﬁ

bt

4. v 31. §FET FTATH

Question Number : 76 Question Id : 50964710710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following amendment increased the duration of
Lok Sabha from 5 years to 6 years in case of an emergency?

Options:

1. v 42nd
2. = 40th
3. = 41st

4. = 43rd

Question Number : 76 Question Id : 50964710710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol Ed # O ohg TeNee o 3T9Tdshlel shl TUfd & ollsh
THT I AT 5 ¥ & dh 6 a¥ L o 24

Options:




v 423
% 40T
413
x 43T

ol
#®

Question Number : 77 Question Id : 50964710711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The schedule of the Indian Constitution contains the
Union list, State list and concurrent list.

Options:

1. = Eighth
2. v Seventh
3. = Twelfth
4. = Ninth

Question Number : 77 Question Id : 50964710711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Tl T AT A FY T, ToF T AR
ARG AT eMiAe

Options:

1. = 3T&AT

2. v giddar
3. » SNEdT
4. = QT

Question Number : 78 Question Id : 50964710712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following cricketers has scored the highest
individual score in the test cricket format?

Options:



1. = Virender Sehwag
2. = Ricky Ponting

3. v Brian Lara

4. = Rohit Sharma

Question Number : 78 Question Id : 50964710712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # 8 forg Tohahel o &&c Tohohe WIHE H 3chol Tad
HH T T &7

Options:
1. = dNg Hgdmer
2. = T&hr gifdar
3. v §e o]
4.

x JTgd AT

Question Number : 79 Question Id : 50964710713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first woman swimmer to swim across the
waters known as the, 'Seven Seas’?

Options:

1. ¥ Bula Chaudhary
2. = Aarti Saha

3. » Kamaljeet Sandhu
4. = Mihir Sen

Question Number : 79 Question Id : 50964710713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aded TTeT & oTH & TAE UTal #H o<al dTell Tgoll AR ol
FleT of?

Options:




‘I.J@T»lTﬂ‘fﬂﬁ'
2. = ATl 9Iam
3. % A S TY

4. = TAGT A4

Question Number : 80 Question Id : 50964710714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the record holder of maximum
number of Grand Slam Mixed Doubles titles among men?

Options:

1. = Todd Woodbridge
2. = Roger Federer

3. » Rafael Nadal

4. v Leander Paes

Question Number : 80 Question Id : 50964710714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & |, 7o A, fua I3 TolF fAFes soed *
ey 3T @ae Sia &7

Options:

1. = 28 gsffé‘ld
2. * Yol HsT

3. % {PITel od3Tdl

4. v TOIUsT g

Arithmetic Abilityl
Group Number : 5
Group Id: 509647236
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

No
No

20
No
Yes

Arithmetic Ability1

509647396
1

Online
Mandatory
20

20

20

1
509647556
Yes

Question Number : 81 Question Id : 50964710715 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 77

Options:

1. v 8841
2. % 8839
3. = 8964
4. = 8465

Question Number : 81 Question Id : 50964710715 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

frafel@&a # @ i O §&arT 7 8 99T 87

Options:

1. v 8841
2. = 8839
3. = 8964



4. = 8465

Question Number : 82 Question Id : 50964710716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is exactly divisible by 6?

Options:

1. v 74340
2. % 63292
3. % 53692
4, » 24560

Question Number : 82 Question Id : 50964710716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe™=&a # O i O T&IT 6 8 Tele [aH=T &7

Options:

1. v 74340
2. ® 63292
3. = 53692
4. = 24560

Question Number : 83 Question Id : 50964710717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation :

(64%x40) ~8+18x5=7
Options:

1.+ 410
2. % 1690
3. = 580
4, % 1210

Question Number : 83 Question Id : 50964710717 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T g Wl & folv Toq 3T fashew el

(64 x 40) + 8 + 18 x 5 =7

Options:

1. v 410
2. = 1680
3. = 580
4. = 1210

Question Number : 84 Question Id : 50964710718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation :

705 +(5x3)+15%x2=7
Options:

1. » 453
2. % 85
3.v77
4. = 1470

Question Number : 84 Question Id : 50964710718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T g Wl & folv Toq 3T fashew el

705 + (5 x 3) + 15 x 2 = 7

Options:

1. = 453
2. = 85



3. v 77
4. = 1470

Question Number : 85 Question Id : 50964710719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the greatest four digit number which is divisible by 5,
25, 30 and 607?

Options:

1. = 9945
2. % 9960
3. = 9950
4, v 9900

Question Number : 85 Question Id : 50964710719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oY 37 I 3RIT T&AT T & o 5, 25, 30 3T 60 &
=T &7

Options:

1. = 9945
2. = 9960
3. = 99580
4. v 9900

Question Number : 86 Question Id : 50964710720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF and LCM of 2 positive numbers are 3 and 231
respectively. If one of the numbers is 12 more than the other,
find the smaller number.

Options:

1. % 18
2.v 21



3.% 24
4. % 27

Question Number : 86 Question Id : 50964710720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 gellcHS TEIT FT Agcdd TATIGAF 3T Tecdd
FHATIGR A 3 AT 231 &1 IfT 37 g&amsit # § T g
g 12 dTU &, O BT T&AT ATT HL|

Options:

1. = 18
2. v 21
3. = 24
4, = 27

Question Number : 87 Question Id : 50964710721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following numbers which one is the least?

6/7, 5/6, 3/2, 1/3

Options:

1. = 6/7
2. % 5/6
3. % 32
4.+ 1/3

Question Number : 87 Question Id : 50964710721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafolET # & shiel &7 T&IT T BT g7

6/7, 516, 3/2, 1/3



Options:

1. = 6/7
2. = 5/6
3. = 3/2
4. v 113

Question Number : 88 Question Id : 50964710722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What decimal of a day is an hour?

Options:

1. = 0.038
2. v 0.042
3. = 0.045
4. % 0.048

Question Number : 88 Question Id : 50964710722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch H&T Ueh Toel ol Tehddll cRTHOT g7

Options:

1. = 0.038
2. v 0.042
3. = 0.045
4. = 0.048

Question Number : 89 Question Id : 50964710723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the difference hetween 0.8 and 0.8% of 1?

Options:

1. = 79.2
2. % 7.92



3.+0.792
4, = 0.0792

Question Number : 89 Question Id : 50964710723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 & 0.8 3T 0.8% # AT 3aT &7

Options:

1. = /9.2
2. % 792
3. v 0.792
4. = 0.0792

Question Number : 90 Question Id : 50964710724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man has Rs. 120 in coins of 1-rupee, 2-rupees and 5-rupees.
The number of coins of each denomination is equal. What Is
the total number of coins he has?

Options:

1. = 15
2.v 45
3. % 30
4. % 60

Question Number : 90 Question Id : 50964710724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk MEHAT & I 1-F |, 2-F9F AT 5-FF & &@Fnir # 120
T 1 AP Heg & TAFPT T TEIT A g1 FAb T Fel
Torder [aeFn &7

Options:

1. = 15




2. v 45
3. = 30
4. = 60

Question Number : 91 Question Id : 50964710725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a club of 600 members, the average age of boys is 20 years
and the average age of girls is 21 year. If the number of girls
in the club is 150, then what is the average age of all the
members?

Options:

1. = 20 years 5 months
2. v 20 years 3 months
3. = 20 years

4. = 20 years 6 months

Question Number : 91 Question Id : 50964710725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

600 T dTel Uk Fold H oISkl T 3T 3H 20 aF 31T
aisferar fr daa 37 21 a¥ & afe Foag H JsiRar S a&ar
150 &, df AT W&l =l IAad 35 +497 87

Options:

1. = 20 @Y 5 #Agla
2. v 20 @y 3 Agla
3. % 20 Oy

4, = 20 ¥ 6 A

Question Number : 92 Question Id : 50964710726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




While calculating the average of the marks obtained by a
class, 65 was mistakenly written as 56. Due to this, the
average marks for the class decreased by 1/3. What is the
strength of the class?

Options:

1. = 25
2. % 20
3.v 27
4, % 30

Question Number : 92 Question Id : 50964710726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh T EART e 37! & 3ET T 0T I THA, 65
Aol & 56 & 9 H TOI@ET 9T ATl 39 $ROT H, F&T & Ardad
3R A 1/3 &7 FAT 32| g9 A TagIidgt $r T F=2AT 8

Options:

1. = 25
2. = 20
3. v 27
4. = 30

Question Number : 93 Question Id : 50964710727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A trader offers a discount of 10% on all the items at his shop
and still makes a profit of 20%. If the marked price of an
article is Rs. 320, then what is the cost price of the article?

Options:

1. v Rs. 240
2. % Rs. 255
3. = Rs. 260



4. % Rs. 280

Question Number : 93 Question Id : 50964710727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk SYTANRT 37T gohlel T T T3 W 10% FT T Yl
T & 3T T 3l 20% T oTeT FATaT &1 AT FhET T h
3ehd Hed 320 T &, A 38 TE] HI AP Heg F4T &7

Options:

1. v 240 ¥4
2. = 255 ¥
3. = 260 ¥
4, = 280 ®9I

Question Number : 94 Question Id : 50964710728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A equals 30% of C and B equals 90% of C, then which one of
the following is 150% of B?

Options:

1. = 300% of C
2.v450% of A
3. % 450% of C
4. = 300% of A

Question Number : 94 Question Id : 50964710728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IJfg A, C F 30% & 3T B, C & 90% & s&T &, ar
Ao @™d # & shid @1 B &1 150% &7

Options:

1. = C T 300%
2. v A =1 450%



3. = C =1 450%
4. = A o1 300%

Question Number : 95 Question Id : 50964710729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an examination. One students
scored 20 marks more than the other and his score was 60%
of the sum of their marks. What is his score?

Options:

1. = 50
2. % 80
3.+ 60
4, % 40

Question Number : 95 Question Id : 50964710729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wﬁwﬁammﬁﬁglwmﬁ@%ﬁwﬁ
20 3 TR BT 0 3N 39T uiedieh 3deh 3ehl o ANdT
T 60% AT| 3R UTCdlh AT &7

Options:

1. = 50
2. = 80
3. v 60
4. = 40

Question Number : 96 Question Id : 50964710730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an examination. One students
scored 30 marks more than the other and his score was 80%
of the sum of their marks. What is the sum of their scores?

Options:



1. = 80
2. % 60
3. %70
4. v 50

Question Number : 96 Question Id : 50964710730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

veh I & folv a7 o1 39REud §U1 Uk o1 of gEe @l
JelaT & 30 37k 379k UItd RT3 38 WIedTsh 37T &
W7 T 80% 2T| 3aleh 37ehl kT JTT FAT &7

Options:

1. = 80
2. = 60
3. = /0
4. v 50

Question Number : 97 Question Id : 50964710731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ashish bought a car for Rs. 32,000. He spent Rs. 4,000 on
repairs and sold the car for Rs. 46,800. What is his gain
percent?

Options:

1. = 20 percent
2. % 35 percent
3. v 30 percent
4. = 25 percent

Question Number : 97 Question Id : 50964710731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ey & 32,000 T9=3F & TR R TS| 30 AFAT W
4,000 ¥ T FRT 3T 46,800 9T H I ST 3HRT oTH
gicrerd =T §7

Options:

1. = 20 wfaerd
2. = 35 yfaera
3. v 30 yfaera
4, = 25 yfaerd

Question Number : 98 Question Id : 50964710732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A milk vendor bought 32 litres of milk at the cost of Rs. 10 per
litre. After adding some water, he sold the mixture at the
same price. If he gains 15%, how much water did he add?

Options:

1.« 5.2 L
2. % 4L

3.v48L
4. % 6.2 L

Question Number : 98 Question Id : 50964710732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk g fashal & 10 &9 e offeT T oerd & 32 ofiet gy
e 3EA F5 e Fae & §7E, 38 38 AT W8
fasor s=m| I 98 15% oI U =T &, ar 30a rder
qraT [Hemar ar?

Options:

1. = 8.2 L
2. = 4 L




3. v 48 L
4. = 6.2 L

Question Number : 99 Question Id : 50964710733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a land is sold for Rs. 19,000, the owner loses 20%. At
what price the land must be sold in order to gain 20%?

Options:

1. = Rs. 25,000
2. % Rs. 22,500
3. v Rs. 28,500
4. = Rs. 30,000

Question Number : 99 Question Id : 50964710733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS AT STATST r 19,000 TUIr A ST, ar Alfelss & 20%
AR BT &1 20% oMeT &1l Flal o Tov STHTer Fl fohd
FTHT 9T ST ATAT ATRT?

Options:

1. = 25,000 ¥
2. % 22,500 ¥
3. v 28,500 ¥9
4. % 30,000 FIX

Question Number : 100 Question 1d : 50964710734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio 2 : 3. When 6 is subtracted from
each, the ratioc becomes 5 : 4. Then the smaller number of two
18

Options:

1. v 12/7




2. = 18/7
3. % 7/12
4. = 137

Question Number : 100 Question Id : 50964710734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &AW 2 1 3 o 3uid A &1 S Yedh HA F 6 "™ Sl
g, ol Ig 3eqared 5 : 4 8 Sfar &1 A 2l # 8§ o Jean
gl

1. v 1217
2. = 1817
3. = 712
4. = 13/7

Arithmetic Ability?2
Group Number : 6
Group Id: 509647237
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 509647397
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions; 20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 509647557
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 50964710735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B together have Rs. 1820. If 9/16 of A’s amount is equal
to 3/4 of B's amount, how much amount does B have?

Options:

1. = Rs. 950
2. v Rs. 780
3. = Rs. 620
4. % Rs. 520

Question Number : 101 Question 1d : 50964710735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B & 9 AT 1820 9 &1 afg A 1 Tfer 1 9/16
9T B AT Tfer & 3/4 #19T & s &, af B & 9 fohdar
ITer &7

Options:

1. = 950 &4
2. v 780 ¥4
3. = 620 T
4. = 520 T

Question Number : 102 Question Id : 50964710736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The ratio of number of male and female teachers in a school
is 5:3. If the percentage increase in the number of male and
female teachers be 20% and 50% respectively, then what will
be the new ratio?

Options:

1. = 5:6
2. % 34
3. % 75
4. v 4:3

Question Number : 102 Question Id : 50964710736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tohel H TEY 3T AfgeT foeThl ST T&T T 39T 5:3
afe qey 3T Afgem et w1 d&ar # FAT: 20% 3 50%
T gi& aﬁ? g, ol STT 37e[UTcd AT g

Options:

1. = 5:6
2. % 34
3. % 7:5
4. v 4:3

Question Number : 103 Question Id : 50964710737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money amounted to Rs. 375 in 2 years and Rs. 405 in
3 years when compounded annually. Find the annual rate of
interest.

Options:

1. v 8 percent
2. % 4 percent
3. = 3 percent



4. = b percent

Question Number : 103 Question Id : 50964710737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Yarfer 2 @y # 375 §92 3 3 ¥ # 405 9 & Aar
g OIS aiieh Tshgie sATST SETT STl &1 sITeT T aTiseh o
AT R

1. v 8 ufaerd
2. = 4 ylererd
3. = 3 ufaera
4, = 6 gfcerd

Question Number : 104 Question Id : 50964710738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the rate of interest if the simple interest on a principal of
Rs. 2500 gave an interest of Rs. 437.5 in a span of 5 years.

Options:

1. v 3.5percent

2. % 3.625percent
3. = 3.75percent
4. = 3.875percent

Question Number : 104 Question 1d : 50964710738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T & AT L, Iie HAdsT 2500 TAT T FIRUT sATS
T eT @ 5 a¥ HT @iy # 437.5 SUl T SIS AT a4

Options:

1. v 3.5 giaera
2. = 3.625 yTaera




3. = 3.75 gfdera
4. = 3.875 wfaera

Question Number : 105 Question 1d : 50964710739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the rate of interest if the simple interest on a principal of
Rs. 500 gave an interest of Rs. 37.5 in a span of 5 years.

Options:

1. v 1.5percent
2. % 1.8percent
3. = 1.75percent
4. » 1.65percent

Question Number : 105 Question Id : 50964710739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATST T & AT e, Ife Fodel 500 93T 9T FTUROT ST
ST e T 5 N & 3arel A 37.5 FU™AT T sATST foAT I

Options:

1. v 1.5 vfcerd
2. = 1.8 wfaerd
3. = 1.75 ufcrerd
4. = 1.65 gfarerd

Question Number : 106 Question Id : 50964710740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bus covers a distance of 880 metres in 1 minute and a car
covers a distance of 66 kms in 50 minutes. What is the ratio of
their speed?

Options:

1. % 5:3
2. % 377



3.v 23
4. %75

Question Number : 106 Question Id : 50964710740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 88 1 sl # 880 HIeT T gl ¥ HIdr § 3K v &R
50 fAelc # 66 TohrellATeT T gl T FTdT &1 Jeehr arfd 1

a1 87

Options:

1. = 5:3
2. = 317
3. v 2:3
4, = 7.5

Question Number : 107 Question Id : 50964710741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels at a speed of 84 km/h while another train
travels at a speed of 25 m/s. They start at the same point. Find
the distance between them after 150 seconds.

Options:

1. = 225 m
2. % 280 m
3. % 240 m
4. v 250 m

Question Number : 107 Question Id : 50964710741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TR IETMET 84 km/h ufa o &1 aifd & IMET FaT & Seir
gERT Yer@msT 25 m/s I AT & MM KIAT &1 T UF & fog &
qF FIAT &1 150 RS F g 3ol oI T T ATT

Options:




1. = 225 m
2. = 280 m
3. = 240 m
4, v 250 m

Question Number : 108 Question Id : 50964710742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man completes a journey in 12 hour. He travels first half of
the journey at 21 km/h and the second half at 24 km/h. Find
the total journey.

Options:

1. = 260 km
2. v 268.8 km
3. % 256 km
4. % 272.2 ki

Question Number : 108 Question Id : 50964710742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U JTEAT 12 €S H Teh ITAT AT HIAT &1 g8 ITAT HT Tge
3T H1eT 21 km/h 3R GERT 34T ST 24 km/h T AT B
Fel I AT Fisw]

Options:

1. = 260 km
2. v 268.8 km
3. = 256 km
4. = 272.2 km

Question Number : 109 Question Id : 50964710743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



X, YandZ can do a job In 8, 12 and 16 days respectively. In
how many days can X do the work if he is assisted by Y and Z
every fourth day?

Options:

1. = 5.28 days
2. = 7.25 days
3. % 7.12 days
4. v 6.19 days

Question Number : 109 Question Id : 50964710743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X, Y 3T Z AT 8, 12 3T 16 fal H v F1H T Thd &l
afg X & g d9ld &1 Y 3R Z ganT |ggar verd gidr &, ar

ag fehdadl f&al # T 9T T Fehal &7

Options:

1. = 528 faa
2. % 7.25 faaT
3. % 7.12 feat
4. v 6.19 faaT

Question Number : 110 Question Id : 50964710744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ajit is thrice as good a workman as Rishab and takes 40 days
less than Rishab. In how many days can they do the work by
working together?

Options:

1. v 15 days
2. = 20 days
3. = 18 days



4. = 12 days

Question Number : 110 Question Id : 50964710744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI, HWeT T Jolell H oilel T 3BT FHRR & 3T FTH A
40 8T A odT &1 Tk 1T FTH Fa 3 haa ar 7 g
FTH G F b &7

Options:

1. v 15 &
2. % 20 foaT
3. % 18 faaT
4, = 12 T

Question Number : 111 Question Id : 50964710745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ashish can do a piece of work in 15 hours, Binita and Fatima
can do it in 5 hours while Ashish and Fatima can do it 10
hour. How long will Binita alone take to do the work?

Options:

1. = 12 hours
2. % 8 hours

3. v 6 hours
4, « 4 hours

Question Number : 111 Question Id : 50964710745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AN 15 g8 H U HIH HT ohdl o, Wiadr 3 wIfdAT 389
5 °¢ H T Thdl & SAaieh RN 3T ®IfdAT 38 10 8¢ 7
Thd &1 TSfadr s 3fhel FTH o 7 ohadaT gaT F@8Em?

Options:




x 12 T
x 8 T
v 6 T
x 4 T

ol

Question Number : 112 Question Id : 50964710746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The diagonal of a rectangle is 13 cm. The longer side of the
rectangle is 12 cm. What is the area of the rectangle?

Options:

1. = 156 {:m2

2. % b cm2

3. = 144 sz

4, v 60 cm2

Question Number : 112 Question Id : 50964710746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch AT Rl TdR0T 13 cm &1 3T T 6T AT 12 cm g
39 M T &9%o AT §7

Options:

2
1. = 156 cm

2
2. = 65 cm

2
3. = 144 cm

2
4. v 60 cm



Question Number : 113 Question Id : 50964710747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the radius of a circle is reduced by 20%, then by what
percent will be the area of the circle diminish?

Options:

1. = 20percent
2. v 3bpercent
3. = 18percent
4. = 40percent

Question Number : 113 Question Id : 50964710747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe fordl gead 1 Bear 20 % I FA Fr ST g, a god FH
8The Tohda UTaed & FH & SATTIT?

Options:

1. = 20 gfaera
2. v 36 yfaera
3. = 18 ufcrerd
4. = 40 gfaerd

Question Number : 114 Question Id : 50964710748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sphere of radius 12 cm is moulded to form a cylinder of
radius 6 cm. Find the height of the cylinder.

Options:

1. = 120 cm
2. % 144 cm
3. v 64 cm

4. = 102 cm

Question Number : 114 Question Id : 50964710748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



12 cm T3ST aTel U el &l 6 cm &F<AT o Tolsy §d &
Tl &relm SIdr &1 [8elsT 1 391 AT R0

Options:

1. = 120 cm
2. » 144 cm
3. v 64 cm
4, = 102 cm

Question Number : 115 Question Id : 50964710749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table shows the number of workers working at
various departments of Bharat Petroleum. What is the ratio of
total number of workers in Maintenance Department to
Safety and Environment Department over last 5 years?

Safety
and
Maintena|Environm

Health nce ent Finance
Departm |Departm |[Departm |Departm
Years ent ent ent ent
2014 150 45 75 50
2015 225 55 62 65
2016 450 65 55 75
2017 500 80 58 20
2018 225 295 60 25
Options:
1. = 25:17
2. % 31:34
3. v 34:31

4. % 17:25



Question Number : 115 Question Id : 50964710749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafer@a arfelerr & ara difed & Al foumen & &3
el ATel HATHeR! whl AT i SOITAT IAT &1 WSel 5 auf &
TEEE TR & ATART & JTY LT 3R JATHOT [qomeT +
ATAFT FT TeTATT AT &7

Tareey | 3H=RaTor |gavaver (faca

2014 150 45 75 50
2015 225 b 02 65
2016 450 65 55 75
2017 500 80 58 80
2018 525 25 &0 95

Options:

1. = 25:17

2. % 31:34

3. v 34:31

4, = 17:25

Question Number : 116 Question Id : 50964710750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following pie-chart shows the details of employees
working in a company in various departments. If 1170
employees work in a department D, how many employees
work in a department A?

Employees in Different Departments

Options:

1. = 450
2. % 750
3. = 620
4. v 420

Question Number : 116 Question Id : 50964710750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafel&aT 9-ar¢ U Fuail # fAfees [@9mel & F1H
grel FHATRAT &7 fgavor fem@rar &1 afe @ D # 1170
FHANT FTH T &, dF AT A A Thder FAIRT FTH Fa &7

e Rt & s

Options:

1. = 450



2. = 750
3. = 620
4. v 420

Question Number : 117 Question Id : 50964710751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie charts below show the employee composition of 2
companies A and B. If Company A has 45 employees in their
marketing team, and Company A is thrice as big in terms of
employee count as company B. Then there are how many
employees in the HR team of Company B?

Company B

Options:

1.v4
2.% 5
3.2 0
4, =7

Question Number : 117 Question Id : 50964710751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



St fow arv grg-ane 2 Hufadt A T B & wATRT Fr a3=mer
T 22T &1 IS FUsr A H 3aThT Fuorea dH H 45 FAIRT &,
A, B @ FHATRY 01T & ATHe H el a7 §37 g, o st B
$T HR &1H # Tohda HaaRT &7

FqAT A

AT
A
i

Options:

1. v 4
2. » 5
3. = 6
4. = 7

Question Number : 118 Question Id : 50964710752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the two bar graphs, one shows the amount (in Lakh
rupees) invested by a Company in purchasing raw materials
over the years and the other shows the values (in Lakh
rupees) of finished goods sold by the Company over the years.
What was the difference (in Lakh rupees) between the
average amount invested in raw materials during the given
period and the average value of sales of finished goods during
this period?

%5 (%]
e 0
m e
11 -] g
11 .
o
139 I l
Bl BM NI BN N7 NQ M N MNId NN NP N
Year Year

Amounts invested by
a Company in purchasing
raw materials
+ BN ESEE
Values of finished goods
SEEEEEE

sold by the company

Options:

1. = 68.5
2.v 775
3. % 62.5
4. %715

Question Number : 118 Question Id : 50964710752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ar TA 3T H &, Uk TRAT FUaT ZaRT Sdo auf & Fhed
TG H forder <1 9 T (g §9F A) fa@rar § 3 gaa
3" $YaT GINT Scal ¥ # S a0 qAR Alel & Hedl (1@
TG H) T 279 §1 & IS AT F ST Fed ATl A forder
$r 92 g afer 3 =9 3Ef & S I Arer Fr B+
AT Ao & &9 & 3 (1E §9F H) 41 977

g = ~ - =
EF .: 0 - | I | :EE: 0 2
il o |

EE T . E ’ Wy W4 WIS M6 MAT IR
O-ptions:

1. = 68.5

2. v 775

3. = 62.5

4, = 71.5

Question Number : 119 Question Id : 50964710753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The histogram shows production of tea (in million metric
tonnes) company over different years. What percentage
(approximately) is the total production in 2015- 2016 of the
total production in 2012-2013?

20072018 2016-2017 2015-2016 2014-2015 2013-2014 2012-2013
Year

Options:

1. = 67.7 percent
2. % ©8.25 percent
3. v 147.73 percent
4.« 112.25 percent

Question Number : 119 Question Id : 50964710753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IJg AT (e aul # I FYail hT 3cvea (AR
Arfear eal) femmar &1 2012 - 2013 # Y el 3cTasT P 2015
- 2016 H U el cUEe F EGRGI ‘;ﬁ?ﬁnd (GleeTehed) &7

=

Em
E o

S00

a

2017-2018 2016-2017 2015-2016 2014-2015 2013-2014 2012-2013
ok




Options:

1. = 67.7%

2. = 68.25%
3. v 147.73%
4. = 112.25%

Question Number : 120 Question Id : 50964710754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The line graph shows the number of students who joined and
left the school in the beginning of year for for six years, from
2012 to 2017. Initial strength of the school in 2012 = 1500. At
the start of which of the following pairs of years, the
strengths of the school is equal?

= Mo. of students joined == MNo. of students lefi

joined and left the school
» 358338

Mumber of students who

M2 My Foi L] Foobh MNle w07
Years

Options:

1. v 2013 & 2015
2. % 2012 & 2016
3. % 2013 & 20106
4. % 2013 & 2017

Question Number : 120 Question 1d : 50964710754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TE Y@ ATE 3o SIAT hT TEAT Sl AT §, Toeaglad 2012 &
2017 Tk, T T B37Td A S I8 & [T Thel & yaer ferm
3R 38 oI5 fam 2012 = 1500 H Thor Hr IREHS GEar o)
farar & @ ThE garer asf Fr qe3d A, Thel HT TEAT Uk
TTATT &7

A o o # gEm T ad ant g

. 550

E E 600 500 500
500 450
BR - /7 s
% & 300 400
E e l 300
E 200 50 5p
E E 100
| = 0
2012 2013 2014 i 2015 2016 2017

Options:

1. v 2013 3T 2015
2. = 2012 3 2016
3. = 2013 3i¥ 2016
4. = 2013 3 2017
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General Englishil

Section Id : 509647398
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Section type: Online
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Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647558
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 50964710755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Jack will not attend the party/ (B) as he is sick/ (C) and has
to visit a doctor./ (D) No error

Options:

1. = A
2.% B
3.v(C
4. =D

Question Number : 121 Question Id : 50964710755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Jack will not attend the party/ (B) as he is sick/ (C)

and has to visit a doctor./ (D) No error

Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 122 Question Id : 50964710756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) In a recession-hit economy,/ (B) automobiles is the / (C)
most effected sector./ (D) No error

Options:

1. = A
2.% B
3.v(C
4. =D



Question Number : 122 Question Id : 50964710756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) In a recession-hit economy,/ (B) automobiles is the /

(C) most effected sector./ (D) No error

Options:

1. = A
2. = B
3. v C
4, = D

Question Number : 123 Question Id : 50964710757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) The teacher asked / (B) the student to what / (C) district he
came from./ (D) No error

Options:

1. = A
2.v B
3. = C



4. %D

Question Number : 123 Question Id : 50964710757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) The teacher asked / (B) the student to what / (C)

district he came from./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 124 Question Id : 50964710758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Rashmi introduced me/ (B) to her friend / (C) who Is singer
and a doctor./ (D) No error

Options:

1. = A
2.% B



3.vC
4 =D

Question Number : 124 Question Id : 50964710758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Rashmi introduced me/ (B) to her friend / (C) who is

singer and a doctor./ (D) No error

Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 125 Question 1d : 50964710759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) John took the bike/ (B) which he bought/ (C) from the store
yesterday./ (D) No error

Options:

1. = A



2.« B
3.v(
4 =D

Question Number : 125 Question Id : 50964710759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) John took the bike/ (B) which he bought/ (C) from the

store yesterday./ (D) No error

Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 126 Question Id : 50964710760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Manisha has been in the bed (for the last) ten days.

Options:

1. = since the past
2. % since the last
3. = for last



4. v for the past

Question Number : 126 Question Id : 50964710760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Manisha has been In the bed (for the last) ten days.

Options:

1. = since the past
2. % since the last
3. = for last

4. v for the past

Question Number : 127 Question Id : 50964710761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

He is the (most small) person in the group

Options:

1. = smaller

2. » more smaller
3. v smallest

4. = more small

Question Number : 127 Question Id : 50964710761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options

given.

He 1s the (most small) person Iin the group

Options:

1. = smaller
2. * more smaller
3. v smallest

4. * more small

Question Number : 128 Question Id : 50964710762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

If you (crossing the line) you will be in jail.

Options:

1. = cross in the line

2. » cross of the line

3. v cross the line

4. » cross with the line

Question Number : 128 Question Id : 50964710762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

If you (crossing the line) you will be In jall.

Options:

1. = cross In the line



2. % cross of the line
3. ¢ cross the line

4. = cross with the line

Question Number : 129 Question 1d : 50964710763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Swaltl is (keen to learn) Spanish.

Options:

1. v keen on learning
2. = keen to learning
3. = keen In learning
4. = keen of learning

Question Number : 129 Question Id : 50964710763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Swatl 1s (keen to learn) Spanish.

Options:

1. v keen on learning
2. = keen to learning
3. = keen In learning

4, = keen of learning

Question Number : 130 Question Id : 50964710764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options given.

I am (thinking to do) M.Sc. in Mathematics.

Options:

1. = wondering to do
2. v thinking of doing
3. » thinking doing

4. = thinking to doing

Question Number : 130 Question Id : 50964710764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

| am (thinking to do) M.Sc. in Mathematics.

Options:

1. = wondering to do
2. v thinking of doing
3. = thinking doing

4. = thinking to doing

Question Number : 131 Question Id : 50964710765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Her mother has been supporting the family her father’s
death.

Options:

1. = to



2. « With
3. % 0N
4. v since

Question Number : 131 Question Id : 50964710765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Her mother has been supporting the family her
father's death.

Options:

1. = 1o
2. % with
3. ® on
4. v since

Question Number : 132 Question Id : 50964710766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Shashi to be a chef.

Options:

1. = was wanting
2. = wanting

3. v wants

4. = IS wanting

Question Number : 132 Question 1d : 50964710766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct form of verb from the given options.

Shashi to be a chef.

Options:

1. = was wanting

2. * wanting
3. v wants
4. % |Is wanting

Question Number : 133 Question Id : 50964710767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Julie at the shop for the last half an hour.

Options:

1. * had been waited

2. = have waited
3. » will be waliting
4. v has been waiting

Question Number : 133 Question Id : 50964710767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Julie at the shop for the last half an hour.

Options:

1. = had been waited

2. * have walited



3. = will be waiting
4. v has been walting

Question Number : 134 Question Id : 50964710768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Jim knew Japanese and German Chinese.

Options:

1. » except
2. = with
3. v besides
4. = and

Question Number : 134 Question 1d : 50964710768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Jim knew Japanese and (German Chinese.

Options:

1. = except
2. * with
3. v besides

4. = and

Question Number : 135 Question Id : 50964710769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Mary and Jill, there were three other girls present.

Options:



1. = For

2. v Besides
3. = 0On

4. = With

Question Number : 135 Question Id : 50964710769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Mary and Jill, there were three other girls present.

Options:

1. = For
2. v Besides
3. » On
4, = With

Question Number : 136 Question Id : 50964710770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Divide the chocolates the two children.

Options:

1. x among
2. v between
3. = within
4. = for

Question Number : 136 Question 1d : 50964710770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with an appropriate preposition.

Divide the chocolates the two children.

Options:

1. * among

2. v between
3. = within
4, = for

Question Number : 137 Question Id : 50964710771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Rachana has no taste music.

Options:

1. v of
2. = at
3. = with
4. = in

Question Number : 137 Question Id : 50964710771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Rachana has no taste music.

Options:

1. v of

2. % at



3. % with
4. = In

Question Number : 138 Question Id : 50964710772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

He carefully placed the vase the table.

Options:

1. v upon
2. % Up
3.%1n
4. = above

Question Number : 138 Question 1d : 50964710772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

He carefully placed the vase the table.

Options:

1. v upon
2. % Uup
3. % 1In
4. = above

Question Number : 139 Question Id : 50964710773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

The girl

P : with big red eyes

() : watched her

R : but she didn’t utter a word

S : which were filled with anger

Options:

1. = QRSP
2. = RPQS
3. v QPSR
4. = PQRS

Question Number : 139 Question Id : 50964710773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.
The girl

P : with big red eyes
Q : watched her
R : but she didn't utter a word

S : which were filled with anger

Options:

1. = QRSP
2. = RPQS
3. v QPSR
4. = PQRS

Question Number : 140 Question Id : 50964710774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

Severe soil-erosion

P : land forms and climate

() . a result of long-term human

R : related activities and its erosion-prone
S : challenges exist in China as

Options:

1. v SQRP
2. = PQRS
3. = PRSQ
4. = QSPR

Question Number : 140 Question Id : 50964710774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

Severe soll-erosion

P : land forms and climate
Q : a result of long-term human
R : related activities and its erosion-prone

S : challenges exist in China as

Options:
1. v SQRP
2. = PQRS
3. = PRSQ
4. = QSPR

General English2
Group Number : 8
Group Id: 509647239
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time: 0
Group Marks: 20
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Maximum Instruction Time: 0
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General English2

Section Id : 509647399

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647559
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 50964710775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

The kind of conflict most emphasised by these historians is
class conflict.

P : Certainly not by the side a person supported.

Q : Yet, with the revolutionary war dominating these years,
how does one distinguish class conflict with that larger
conflict?

R : Although many of these historians have accepted the
earlier assumption that Loyalist represented an upper class,
new evidence indicates that Loyalists like rebels were drawn
from a socioeconomic classes.

S : It is nonetheless probably true that a larger percentage of
the well to do joined the loyalists than joined the rebels.
Looking at the rebel side, we find little evidence for the
contention that lower class rebels were in conflict with upper
class rebels.

Options:

1. v QPRS
2. = PQRS
3. = SPQR
4. = PQSR

Question Number : 141 Question Id : 50964710775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

The kind of conflict most emphasised by these historians Is

class conflict.

P : Certainly not by the side a person supported.

Q : Yet, with the revolutionary war dominating these years,
how does one distinguish class conflict with that larger
conflict?

R : Although many of these historians have accepted the
earlier assumption that Loyalist represented an upper class,
new evidence Indicates that Loyalists like rebels were drawn
from a socioeconomic classes.

S : It i1s nonetheless probably true that a larger percentage
of the well to do joined the loyalists than joined the rebels.
Looking at the rebel side, we find little evidence for the
contention that lower class rebels were in conflict with upper

class rebels.

Options:

1. v QPRS
2. = PQRS
3. = SPQR



4. = PQSR

Question Number : 142 Question Id : 50964710776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Nincompoop

Options:

1. = Chef
2. = Clown
3. = Smart
4, v Fool

Question Number : 142 Question Id : 50964710776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Nincompoop

Options:

1. = Chef
2. = Clown
3. = Smart
4. v Fool

Question Number : 143 Question Id : 50964710777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Juvenile

Options:

1. v Young
2. = Dull

3. » Honest
4. = Prudent

Question Number : 143 Question Id : 50964710777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Juvenile

Options:

1. v Young
2. = Dull
3. * Honest

4. = Prudent

Question Number : 144 Question Id : 50964710778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Throng

Options:

1. = Transitory



2. » Shallow
3. v Crowd
4. = Ban

Question Number : 144 Question Id : 50964710778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QOut of the four alternatives, choose the word which best

expresses the meaning of the given word.

Throng

Options:

1. = Transitory

2. * Shallow
3. v Crowd
4. = Ban

Question Number : 145 Question Id : 50964710779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Ratify

Options:

1. = Accept
2. ¥ Approve
3. » Confirm
4. v Reject

Question Number : 145 Question Id : 50964710779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Ratify

Options:

1. = Accept
2. = Approve
3. = Confirm
4. v Reject

Question Number : 146 Question Id : 50964710780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Impute

Options:

1. = Attribute
2. v Defend
3. = Revive

4. = Hint

Question Number : 146 Question Id : 50964710780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Impute

Options:



1. = Attribute
2. v Defend
3. = Revive
4. = Hint

Question Number : 147 Question Id : 50964710781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Officous
2. » Oficious
3. v Officious
4. = Offecious

Question Number : 147 Question 1d : 50964710781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Officous
2. = Oficious
3. v Officious
4. = Offecious

Question Number : 148 Question 1d : 50964710782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. v Miniscule
2. » Minescule
3. = Minisculle
4. = Miniscul

Question Number : 148 Question Id : 50964710782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Miniscule
2. * Minescule
3. = Minisculle
4. = Miniscul

Question Number : 149 Question Id : 50964710783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Camouflage
2. = Comouflage
3. » Camuflage
4. = Camouflag

Question Number : 149 Question 1d : 50964710783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. v Camouflage
2. = Comouflage
3. = Camuflage
4. » Camouflag

Question Number : 150 Question Id : 50964710784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

A pipe dream

Options:

1. v Unattainable hope
2. = A smart idea

3. » Impossible event
4. = A plece of wood

Question Number : 150 Question Id : 50964710784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

A pipe dream

Options:

1. v Unattainable hope
2. » A smart Idea
3. = Impossible event

4, = A piece of wood

Question Number : 151 Question 1d : 50964710785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

Cut corners

Options:

1. = To take the measurement of a cloth.

2. *» To cut the edges of a table.

3. v When something is done badly to save money.
4. = To highlight someone’s mistake.

Question Number : 151 Question Id : 50964710785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Cut corners

Options:

1. = To take the measurement of a cloth.
2. »= To cut the edges of a table.
3. v When something I1s done badly to save money.

4. = To highlight someone's mistake.

Question Number : 152 Question Id : 50964710786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Backstairs influence

Options:

1. v Some secret and improper influence.
2. = Good influence of friends.
3. = Political influence.



4. = Influence of society on a human being.

Question Number : 152 Question Id : 50964710786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Backstairs influence

Options:

1. v Some secret and improper influence.
2. = Good Influence of friends.

3. = Political influence.
4.

* |Influence of society on a human being.

Question Number : 153 Question 1d : 50964710787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

One who study the elections and trends in voting.

Options:

1. = Astrophysicist
2. = Petrologist

3. v Psephologist
4. = Philanthropist

Question Number : 153 Question Id : 50964710787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

One who study the elections and trends in voting.

Options:

1. = Astrophysicist
2. % Petrologist

3. v Psephologist
4. = Philanthropist

Question Number : 154 Question Id : 50964710788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A close-fitting cover for the blade of a knife or sword.

Options:

1. = Scullery

2. v Sheath

3. = Lair

4. = Sanatorium

Question Number : 154 Question Id : 50964710788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A close-fitting cover for the blade of a knife or sword.

Options:

1. = Scullery

2. v Sheath

3. = Lair

4. = Sanatorium

Question Number : 155 Question Id : 50964710789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A lover of good food.

Options:

1. * Termagant
2. » Mercenary
3. v Gourmand
4. = Narcissist

Question Number : 155 Question Id : 50964710789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A lover of good food.

Options:

1. = Termagant
2. = Mercenary
3. v Gourmand

4. = Narcissist

Sub-Section Number: 2
Sub-Section 1d: 509647560
Question Shuffling Allowed : Yes

Question Id : 50964710790 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the passage carefully and answer the question.

Like a magician, Gandhi roused a storm of enthusiasm in the
country with his call to non-cooperation. He began the
campaign by returning to the Viceroy the medals and
decorations he had received from the Government for his
war-services and humanitarian works. The anti-climax came
suddenly in February 1922. An outbreak of mob violence in
Chauri Chaura so shocked and pained Gandhi that he refused
to continue the campaign. On March 12, 1930, after having
informed the Viceroy, Gandhi, followed by seventy-eight
members of his ashram, began the historic 24-day march to
the sea beach at Dandi to break the law which had deprived
the poor man to make his own salt. The rest is history - how a
single man shook the foundations of British Empire.

Sub questions

Question Number : 156 Question Id : 50964710791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following incidents shocked Gandhi?

Options:

1. v When there was an outbreak of mob violence in Chauri
Chaura.

2. * When he received medals and decorations from the
Government.

3. * When he was followed by seventy- eight members for the
historic march at Dandi.

4. = When he started the campaign of non-cooperation.

Question Number : 157 Question Id : 50964710792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why did Gandhi receive medals and decorations?



Options:

1. = For helping British subjugate poor Indians
2. v For his humanitarian works

3. = For his non-cooperation movement.

4. = For helping poor in making their own salt.

Question Number : 158 Question 1d : 50964710793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did "The Dandi March” begin?

Options:

1. = 1920
2. % 1935
3. %1922
4. v 1930

Question Number : 159 Question 1d : 50964710794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How long was the historic Dandi March?

Options:

1. = 20 days
2. » 28 days
3. v 24 days
4. = 22 days

Question Number : 160 Question Id : 50964710795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many members of Gandhi's ashram followed him in the
Dandi March?

Options:

1. » 68
2.v 78
3. %75



4. % 83

Question Id : 50964710790 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension

Read the passage carefully and answer the guestion.

Like @ magician, Gandhi roused a storm of enthusiasm in
the country with his call to non-cooperation. He began the
campaign by returning to the Viceroy the medals and
decorations he had received from the Government for his
war-services and humanitarian works. The anti-climax came
suddenly in February 1922. An outbreak of mob violence in
Chauri Chaura so shocked and pained Gandhi that he
refused to continue the campaign. On March 12, 1930, after
having informed the Viceroy, Gandhi, followed by
seventy-eight members of his ashram, began the historic
Z24-day march to the sea beach at Dandi to break the law
which had deprived the poor man to make his own salt.
The rest I1s history - how a single man shook the

foundations of British Empire.

Sub questions

Question Number : 156 Question Id : 50964710791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following incidents shocked Gandhi?

Options:



1. v When there was an outbreak of mob violence In
Chaurn Chaura.

2. = When he received medals and decorations from the

Government.

3. = When he was followed by seventy- eight members for

the historic march at Dandi.

4. = When he started the campaign of non-cooperation.

Question Number : 157 Question Id : 50964710792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why did Gandhi receive medals and decorations?

Options:

1. = For helping British subjugate poor Indians
2. v For his humanitarian works
3. = For his non-cooperation movement.

4. = For helping poor in making their own salt.

Question Number : 158 Question 1d : 50964710793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did "The Dandi March" begin?

Options:

1. = 1920
2. = 1935
3. = 1922
4. v 1930

Question Number : 159 Question Id : 50964710794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



How long was the historic Dandi March?

Options:

1. = 20 days
2. = 28 days
3. v 24 days
4, = 22 days

Question Number : 160 Question Id : 50964710795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many members of Gandhi's ashram followed him in
the Dandi March?

Options:

1. = 68
2. v 78
3. = 75
4. = 85

General Hindil
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Group Id: 509647240
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Section Id : 509647400

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647561
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 50964710796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTelEd 7T , o) Tdeul § 8, 39 [Owey & o= o8 ST STg 4 a-r 3
|

Options:

1. * gaTs
2. % IO
3. = 3T
4. v I

Question Number : 161 Question Id : 50964710796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfaf@aa uead &7, a) RAeedl A 8, 39 AFeT &1 T =
S 399 | & g

Options:

1.&2;@'%

2.
3. = 3Teted
4.

Question Number : 162 Question Id : 50964710797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTelied vy #, IR Tadetl § 9, 39 Gg1 fddeT or aa9 o S 4caa 9
T SIS &




Options:

1. * gidfeT
2. % golig
3. v Fh
4. % qTETeAT

Question Number : 162 Question Id : 50964710797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
$L Sl Tcad § el ¢G &

Options:

1. = wfafea
2. % Golld
3. v &
4. = FTETTeET

Question Number : 163 Question Id : 50964710798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, oR Aaeul § ¥, R o0 & Tolq MEATER 34

[ T
[dcheld ] Td-d el

T @el [ooll gl ST 9T, TS O § ST&EY BT AT (AT
REERIEIED

Options:

1. v FiTh
2. % T

3. fobeg
4. % AT

Question Number : 163 Question 1d : 50964710798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@T mea A, a) Jwear A O, Rea Tua & v

= Y
i?légllog*{'lli 3d TdeheU <plT e <hd|

H For ool sTaT ST G, A o F ST 1A ]

(cTTIRIOT THATST)

Options:

1. v FgITk

2. % g
3. = Tohed
4.

Question Number : 164 Question Id : 50964710799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfalad vy # or Raeul #§ ¥, 39 fdew o1 a3+ e S U 7 9o
BT Tt €Y gl

QUKD

Options:

1. * Gl
2. % TSI4T
3. v A8
4, % I

Question Number : 164 Question Id : 50964710799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST feU 91T ereg T dET T &l

ELUGER]



Options:

1.« FEI
2. = ggIEr
3. v 38
4. % TG

Question Number : 165 Question Id : 50964710800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FRTeTed U #, I” [Adeul § 9, 39 [dded & Id= & ST 6T T e
BT JcGH €7 gl

I IES

Options:

1. = el
2. * oIl
3. % Y
4, v el

Question Number : 165 Question Id : 50964710800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST faU 1T ereg T dcdH FT &l

IEE’IEY

Options:

1. % &l
2. = T
3. * SN
4. v A



Question Number : 166 Question 1d : 50964710801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafeldd 7 ¥, IR Tadetl § ¥, 39 fddheT @ o= oL 51 951
AIAATITT GATY BT TAdeT &l

Options:

1. = @1 § 3ifhd

2. % T ET 9

3. % FteAT g S W
4, v T S gr g

Question Number : 166 Question Id : 50964710801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@a mea A, I) AFedr # &, 39 TFeT FT TTT
ST TEr 3egATd A 1 [dhed &

Options:

1. = 3@ ¥ 3fhd

2. = a¥ ®UT OF

3. % alell & ST J9Tel
4. v Toidar e & gk

Question Number : 167 Question Id : 50964710802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FRTeTed U #, I” [Adeul § 9, 39 [dded & Id= & ST 6T T e
T I ATaeId G<1T & Tg! [adey gl

o -T

Options:

1. * gFaT
2.« g
3. v g[S
A, » AT



Question Number : 167 Question 1d : 50964710802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST U a7 oec & SaT HTGaTrAh AT 7 9ol [ahed &l

Saldl

2
Options:

1. = Saldl
.

2. * Salcd
o

3. v gg

4, % FeITelT
o

Question Number : 168 Question 1d : 50964710803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMYieired U 7, IR Tddetl § ¥, 39 [AdheT &7 T & St 9o qd & 9c,
T a1 Terhet gl

IE TGT DY TATCE [HSTS 3l

Options:

1. » T am=erh
2. % QY qrId
3. * 3TH TW
4. v HET ara®

Question Number : 168 Question Id : 50964710803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST TTATH o #g FT7 ol dheq &

JE TG kI TACSE HOB &l

Options:

1. = ToieT aT<Ieh

2. = Hided dideh

3. % 3cdH gbﬁr

4. v e <+

Question Number : 169 Question Id : 50964710804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d U ¥, IR [ddedl § 9, 39 [dhed T TI- &2 ST AT & AW

aTelT Aot gl

ATl IR F AT &l THET [Tl

Options:

1. * 78T URHATTEa=S
2. * TR TATITETIR
3. * MiEd S=gaad

4. v AFTET SETeTID

Question Number : 169 Question Id : 50964710804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
S 3wor & AT arer @eq &

SITET dRI o THATA I ITHRT T

Options:



» ToITead INATUERR

« 3TATeTd TRATOETR

« fafoag gaars

ol

v AATead gEaErs

Question Number : 170 Question 1d : 50964710805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy §, R Aeeu § 9, 39 odew o7 ag= & S ohaT & |
oTeAT Ta! [T il

34 gl Ugad gl , ag agl & eIl 14Tl

Options:

1. » Qeialiolen fshaT
2. % IHTYT
3. = TRUMY® ThaT

4. v dIchlietn T

Question Number : 170 Question 1d : 50964710805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl ueet &, I) [Ghedl # &, 30 [Aheq &7 TIT
S foRaT & A arem T@Er AReT &l

maﬁqgﬂﬁﬁr,a%aﬁﬁWW|

Options:

1. = qoenliersh foham
2. STHY]

3. = OO foRaT
4, v dlcehiielsr TohdT




Question Number : 171 Question Id : 50964710806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad uy #, IR aeul § T, 39 Adey &1 ad= o St Ol Id e

BT eI 3T [ddheT 2l

giuren

Options:

1. * 39T
2. ¢ T%Id
3. = &ur

4, » g

Question Number : 171 Question Id : 50964710806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
S faele efeg T a8 3ToT dhed B

SINIED

Options:

1. » MfacT
2. v eredd
3. = &0T

4. » Sgl1a

Question Number : 172 Question Id : 50964710807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEeiEd Uy #, I ddedl # ¥, 39 [ddheT ST T3 B ST JATTYT Jec

T GgT [ddeT T3l al

el

Options:




1. v ol
2. % 3cel

3. % e
4. % Tl

Question Number : 172 Question Id : 50964710807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST AT ersg T GET TGkeT AT &l

el

Options:

1. v ol
2. = 3ol
3. % ¥d
4. = Taeser

Question Number : 173 Question Id : 50964710808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myleldd 7 ¥, IR Tddeul § ¥ 3R aaey &l

agd & I hr IR g AL IM TS |

Options:

1. = 9@

2. % TEGRIAT
3. v Teleallge
4, % Teloel T

Question Number : 173 Question Id : 50964710808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fmfaf@a oea &, I” Awedl & & 3T faskeT a1

agﬁﬁa’l?ﬁr%r HeTehl Tg S8 3T IS |

Options:

1. = T
o,

2. % HERIA
P B

3. v ™edTee
4. » odTar

Question Number : 174 Question Id : 50964710809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTetad v #, IR faweut & @, 39 5T e & I3 & St araaran
& ToIT U gree;, @r fadeT gl

SRR EIREY]

Options:

1. v AT
2. % 3Tl

3. » AT
4, % AT

Question Number : 174 Question 1d : 50964710809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
FE S greRaTen & folv Uk orsg T [Ahed &l

TSrErehT 3o o 1 a5 &

Options:

1. v 3TScaTred



Question Number : 175 Question Id : 50964710810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleird 7 ¥, oR Tadetl #§ ¥, 39 g1 [dded of T+ ® ST [k T
& TeIq 3T Ty gl

HTST @ & Telq 3 7 graml

Options:

1. = g9
2. % 3MTE,
3. % I&d
4, v 3gd

Question Number : 175 Question Id : 50964710810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wea &, I) [Ohedl & &, 39 T8 AFhed FT IIa
F S RaFa s & foiv 3T AsreT an

HaT @ & foIT sda AT &3

Options:

1. % &1
2. %

3. % 3ga
4. v 3&d

Question Number : 176 Question 1d : 50964710811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myeirdd 77 ¥, o fadetl #§ €, 39 g1 [dded of T+ B AT [k T
& TolT ST et gl

Telld & 4 U O Hgeh 3ol

Options:

1. = ST
2. % BT
3. % Ba¥
4 v 3T

Question Number : 176 Question Id : 50964710811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wea &, I) [Ohedl & &, 39 T8 AFhed FT IIa
H S Wad v & folv 3T [ashew &l

CICIC] En d [T ;W A 30T

Options:

1. % a4
2. *
3. * B
4. v 3T

Question Number : 177 Question 1d : 50964710812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeITEd U #, IR [Adetl § 4, 39 a1 [ided &7 Id- e AT 1%
& To1q 3SR farwe gl

TRA el 318 Tt Uedh Siiaim

Options:

1. * PO-T-pB




2.« A
3. % MUY

4. v PGS

Question Number : 177 Question Id : 50964710812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeafeli@ad ued #, I) [Aoedl A &, 39 To! [dhed &I II
F¢ off Rad Ture & forv 3T Gseq &N

HATT TRomEr Mged Tgul Ugeh Sidd|

Options:

1. = PS5O
2.« ARA-ArAR
3. * 3IN-UR
4. v FE-H5

Question Number : 178 Question Id : 50964710813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FgTerad U #, IR Adeul § 9, 39 TgI [adey & aa= ol St i T
& foIq SR Tawen 3l

317 ¥ T 2D BT ATt BT AR

Options:
1. * QTP
2. % Tr-ferdar
3. ® IR
4. v Bel-3iel

Question Number : 178 Question Id : 50964710813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
S RN Tumer & folv 3faa AereT &l

gaT & folv 3 T IEAT &l ARV

Options:

1. % @T-l-aT
2. % LIr-fadat
3. *= 3IT-IT
4. v STel-Stel

Question Number : 179 Question Id : 50964710814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U ¥, IR Tddedl § 9, 39 Tdhed B adT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

1. * Sclel
2. % J=ICel
3. = 3=l
4, v I=qc]

Question Number : 179 Question 1d : 50964710814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST e& e T @Er fasked &

Options:

1. = Foddl

2. % Jooicel
3. % T

4. ¢ Joodoel



Question Number : 180 Question Id : 50964710815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTead U ¥, IR Tddedl § 9, 39 Tdhed B adT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

1. = 3T
2. v HE
3. % 9B
4, = 3MOE

Question Number : 180 Question 1d : 50964710815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST e& e T @Er fasked &

Options:

General Hindi?

Group Number : 10
Group Id : 509647241
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Hindi?

Section Id : 509647401

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647562
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 50964710816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy 7, IR Tdaetl § ¥, 39 [dded &7 Id= & 11 1¢J T Ee
& TTIATT e BT gl TAadey gl 3l

qg

Options:

1. * T
2. % 3ae
3. % T
4. v WEIg

Question Number : 181 Question 1d : 50964710816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&d sl A, IN AFedul & &, 39 @heT T I
ST feU 97T ereg & UATIGTT eIeg T Gal Ahed oIal &l

.
Options:

1. = T
2. % 3219



3. = oAdrer
4. v FAGI%E

Question Number : 182 Question 1d : 50964710817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTl 7 &, IR [Adetl § ¥, 39 [dded & o= &l S 16U MY SIee,
& T STec, T a1 [ddey Tl al

TS

Options:

1. = 9
2. % el
3.viay
4, » WEraR

Question Number : 182 Question Id : 50964710817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
S fev arv eeg & wITHERY ersc &1 @AY ™hed T8 §

qugrs

Options:

1. % ofdT
2. = A
3. v fayg
4. = AT

Question Number : 183 Question Id : 50964710818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
<h el T Tg! Tdhed gll

AT el W e §

Options:

1. » 3l Ydehtel

2. % JATHE Hddlel
3. v AL GdATdle
4. » GICTE Ychlel

Question Number : 183 Question Id : 50964710818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST 12U 310 arey & FTel T &l @heq &l

- sl e [ M
TSRl el 9T Sfeldl &
Options:

1. % 37qUT ${cTehlel

2. ® ¥Yod HcThTel

3. v HIHATT ddHTARTd
4. = Hi&T Ihrer

Question Number : 184 Question Id : 50964710819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiied Uy #, IR ddeul #§ 4, 39 [ddmed &7 adT &2 S [dellf e
BT oI 30T [adheT 2l

WETCHT ST = 3mreftaie f&ar M & agi & el U2l

Options:

1. = TereT9dT=IR aTad




2. % Hlol dTFY
3. » 0y aIaT
4. v GYh AT

Question Number : 184 Question Id : 50964710819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeaa ued #, I) TFedl # 8, 39 [AFed T IId R
ST TOelle ersg &7 ad 37T [d&hed ol

HeIcHAT ST o 3Teiaie fear 3 & ggr § o 93|

Options:

IR CRIGEICERCIER?

2. = Lol I

3. = TR ey

4. v H-gcrd CIERS

Question Number : 185 Question Id : 50964710820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiied Uy #, IR ddeul #§ 4, 39 [ddmed &7 adT &2 S [dellf e
BT oI 30T [adheT 2l

gieaT gt & 3R g o =ret I1d g

Options:

1. » T area
2. % el dTdy
3. » TRy arag
4. v GYh ATFY

Question Number : 185 Question 1d : 50964710820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
Sl TdellH eleg T Hed 3Tl Tdehed &l

Bigal gidT § 3 A gA Tl S §
Options:

1. = TQuUTdaT=IR arF

2. * lol Iy

3. = T8y greg

4. v chrd GIERS

Question Number : 186 Question Id : 50964710821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired U #, IR Tddetl § O, 39 [AdeT &1 T & ST STl 2ee,
T IY 3BT [adheT gl

Options:

1. = 9T+
2. % 4G

3. v diel
4, = Sftaq

Question Number : 186 Question Id : 50964710821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST TAITeldT o6, hT TEH 3ol [dhed &

Options:

1. = GIdel

2. = HIE
O

3. v el



4. » Sdel

Question Number : 187 Question Id : 50964710822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

MHeiEd Uy #, I [ddeul # ¥, 39 [ddhed ST TIT & ST 19 LI &
ToTq Sger e, ol §a4 39T fdhey gl

AT Y1 & [l oga ard CEIEXCIGIN

Options:

1. » @=graif
2. % T
3. v BgTY
4. * T

Question Number : 187 Question Id : 50964710822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST RaFd TUTT & TOIv Sgadd ¢ T Ta8 3ol [ddheq &l
ot

FedT Jolal a?ﬁ'tfagﬁﬂ'lf'r Felg ST £

Options:

1. %= FagTal
2. % hedd
3. v FgIT

4., & hedly

Question Number : 188 Question 1d : 50964710823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
& TolT T8 & 9T &7 aIF 3T [ddeT gl

geil G T TG ol 3l

Options:

1. * quded®d
2. % IVITTEAd®
3. * IRAdD
4. v FMcgarenas

Question Number : 188 Question Id : 50964710823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f&T 30 g & Tolw U&7 o AT T Ted 3T [dhed &l

T2AT I HT TFhY o@TAT &

Options:

1. % YETTAEATh
2. » EYEGAITS
3. * NHATTH

4. v Telcgdediceh

Question Number : 189 Question 1d : 50964710824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& ToIT gid & 9, BT Jod 38T [ddheT 2l

ITe, &4 oL ol ST g% dl iy HY 3rst gl

Options:

1. v Gare



Question Number : 189 Question Id : 50964710824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St R a1w arery & v gica & #g &1 @ed 3100 fashed B

A 7 I q TS &5 A Y o ST g

Options:

1. v HehaTd
2. » forezrarey

3. » g
4. » faege

Question Number : 190 Question Id : 50964710825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTeld Uy #, IR Tddeul § ¥, 39 ey &7 o= DY ST hisa H &7
Y e, th IR TEIH [T ATIeh JeI-TH BT Gai (e gl

Options:

1. # (A) TR # IR &7 3l

2. v (AN ) ThdT Z@ STg ST A3 Ul

3. % (@g ) AN T P T 2T ET 2

4, = T (3T ) BgT AT fop 39 UIT g1 HLAT AT T

Question Number : 190 Question Id : 50964710825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ﬁWﬁﬁm%@?ﬂwmQH qEY Tl TdITH
T Tar areT &l

Options:

1. = ( AY ) IN@R HA IN LT &

2. v ( JHR ) fRaT gl S8 ST ARyl

3. = (T8 ) AN I & U & W gl

4, « Ha ( 38 ) Far o7 T 38 AT T8l FaT Ay

Question Number : 191 Question 1d : 50964710826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g uy ¥, oR [Aaetl § 9, 39 fadhet & o o S TaU MU ggTer
T TgT 3re ATAT TIpeT gl

I AL TGl P

Options:

1. * ST A 31TBT hIA
2. * 3BT ASIGY Sh B
3. v 3BT ASIEY 3BT BIH
4. » TG & ST B

Question Number : 191 Question Id : 50964710826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST fU 10 Fgey T Tel 37 arel f[asheq g

=T AT A&l A

Options:

1. * SR FASQY 3BT FIA




2. = 37T ANl SshR FHIH
3. v TSI HASIGIT 3TaT FTA

4. % AW & AT HTH

Question Number : 192 Question Id : 50964710827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
T T 37 ATelT ey gl

el T oot

Options:

1. = TOHT 9Tk 9AS @1 T
2. % g

3.¢ cgd diH e ATe]

4. « 7w A TR

Question Number : 192 Question Id : 50964710827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T mea A, I) TFedr # 8, 39 TFeT FT TTT
ST fu are FEral 1 #@er 37e arelm fawed &

oIl T &ef

Options:

1. » ToalT G TS HRI Rl
2.+ 5§

3. v 9&d HIH Hlel aTell
P |

4. » Uk B TUfa

Question Number : 193 Question Id : 50964710828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
T T 37 ATelT ey gl

gUoll U GIGT g1 STHa

Options:

1. » 9 IS grer § a1 [Werd!
2. % TR H GraT =S 7 [Werr
3. * JTYT hTH

4, v S} § DI BIH gl adT

Question Number : 193 Question Id : 50964710828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST feU arv Feral 1 d@er 37 arelm fawed &

2ol T AT gl STHd]

Options:

1. = @ el 1T A a5 Hear
2. % T H GEr AT o THelar
3. % 3THTel h1H

4. v STea] H s HIH A6l Foldl

Question Number : 194 Question Id : 50964710829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeiEd uef ¥, IR adetl § ¥, 3T gl fadbed B ad= &L A1 & TS
ATPITh Al T Gg1 31 ATeAT [TdheT gl

T Sl ag =Teh 3R =T at dre erer

Options:

1. * o A T & qHET



2. % ST g WT PB = U
3. % &I Pr AT IC@HT

4. v TSIGPT ST BIH FIAT g cTal 39 B Ghal g

Question Number : 194 Question Id : 50964710829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt d w2l H, IX Ahedl # &, 39 el [dFheq T IIa
H SIS IS ellehlierdal T Tl 3797 arerr fddhed &l

Srgdr sedt gar a3 T ar sied g9

Options:

1.w§a—a‘aﬁaww
2.waaaﬁwaﬁ@3rw

3. % S&dT T AT @

4. v TSGFRT S 1A AT § ToT 3T T GhdT &

Question Number : 195 Question Id : 50964710830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY ed ¥ §, IR Tweul § ¥, 39 [Adhey @ ad= & ST od1dT g &
TGd GAYT S TATT TR AIST THT US a3l (g Teig &7 SUANT $Ed g?

Options:

1. % &7

2. % @Tee

3. = ¥GIhHT
4, v 317 [TH

Question Number : 195 Question Id : 50964710830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
S gaTT & R e AT O Tt 9T ST SheT Ug 9g@f
Fg RIgeT T ITAT =T &7

Options:

1. = ol

2. % o[edg

3. % IETehel

4. v 3T QUA
Sub-Section Number: 2
Sub-Section Id: 509647563
Question Shuffling Allowed : Yes

Question Id : 50964710831 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

St TaU & merter e eTYE Ug 3R U T U & I L)

Gd BIa- & JIThd TRYH F T i &t 1T @ ol Y STered 7 3RA

B & o7 DTl Gag el IoD GRT 1T DI B th slcel BH hIH DA
T FoTTg &1 TG TTET I« Uah WY &1 TP g1 il et it rrat #
3rcafee Wer oY et A df I agd $@ 9T 314 o I=g PH P
BT D ToTT GHSAT o7 TTET ST A IGhT a1 T 37 Pgl " @t vT%
3ITCH, Tg GIST IUAT DTH BT gl BISdT, Steh AT T HeheldT g 3N EIY
YR DI AYHT AT 3, a1 §H 3(TAT HTH HY Bla?

Sub questions

Question Number : 196 Question Id : 50964710832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BidreT = TTET ST &Y FAT Fel1g 7

Options:




1. v &H BTH B Bl
2. % SUTCT B T il

3. = 3ITHh TILYH DL i
4, » GAg o] Io i

Question Number : 197 Question Id : 50964710833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3IEH D Thd o1 @7 7 IT?

Options:

1. % SITT ATTH DL DT

2. v UTST giv & dTerS[c, 3IH 7 &L el
3. % FeI<hl 1T G P

4. » T St ERT 9T TR B P

Question Number : 198 Question Id : 50964710834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR ST 3w & T AT HgT?

Options:

1. » @ T & i

2. % G i qTg 7 del<l &Pl

3. v G I g T drd i i
4. % T A @

Question Number : 199 Question Id : 50964710835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

S8 T DI - 9T TSI BT TATgare gl 82

Options:

1. = hE
2. % ggT
3. = &gid
4. v ™o

Question Number : 200 Question Id : 50964710836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




39 ATV, BT his IUYh A |

Options:

1. % TRYW B 3T
2. v T S d
3. = Uy
4, = TTEY ST

Question Id : 50964710831 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

S faU a1 FT AAYE U¢ 3N G0 IR—F el & 3o}
gl

T FIdal F 3R qRAA T AT ST R 3 gEe oElr o)
Siefet o 3NIHA el & TolT gl g STeal 3ol TRT foaT

FTH Fel & el FA FIA Fat ST Follg &l T T T o
Teh AT ST TAIRR gl hl| T ST AT @ H AR 98T
iﬁﬁﬂwmaﬁaﬁagﬁgzaml Md: 98 3eg HH HIA

el & ToIT FAFTS ofar el S of 3Eehr o it HIT Far "
3T AT 3EH, IE GIT 9T HIH 3 81 SIsdl, S TAT

W folsholaT & 3K 91 SO &1 Q2T &ar &, ar &7 39T FIH

Question Number : 196 Question Id : 50964710832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STFeT o AT ST T AT Gollg ar?

Options:

1. v & HKTH Fla FT




2. % SUIET HTH Flel <Al
3. = 3Tk URHH Hla I

4. = gog Seal 3Ga hl

Question Number : 197 Question Id : 50964710833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Waﬁﬁmm?—rmgzaw

Options:

1. = SIIET MNTH Flad hT
2. v WIST @l & STdofg 3NIH o Flal
3. = &R S1d {j:m%‘ ey

4, « MY ST G@RT 1T TR Hlal I

Question Number : 198 Question 1d : 50964710834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ST o HEH § FIT Far?

Options:

1. % ST o L sl

2. = I I WG o ToAa Hl

3. v I T g Hal H Flel Hr
4, % F GHSTA AT

Question Number : 199 Question Id : 50964710835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SolH H shidl - AT UIST S GIGART ool 67

Options:

1. =

®

b8 4

2.
3

®



4. v Taaror

Question Number : 200 Question Id : 50964710836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SO 3eoe T HIg SUPFA AR |

Options:

1. = TICHHA AT W
2. v AT ST kT @™
3. = IRHHA

4, = AT ST




